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MAINDEC-9A-D02A-DN

ABSTRACT

The following machine functions, DZM, DAC, 1SZ, JMP, JMS, XCT, AUTOINDEX, IN-

DIRECT, TIME CLOCK, DBR, INTERRUPT are tested. Individual error halts are used to describe the

failing tests,

2

REQUIREMENTS

Equipment
PDP-9

Storage

8K core storage minimum .

Preliminary Programs

Previous run of PDP-9 Instruction Test, Part 1 (MAINDEC 09-D000-D).

LOADING PROCEDURE

Method
HRI tape ~ Starting address 228

HS paper~tape reader
STARTING PROCEDURE

Control Switch Settings

Data switch settings equal the complement number of complete program passes between bells.

Starting Address or Addresses

Starting address 62658
Restart address 6265g

Program and/or Operator Action

(Reference 4.1)

OPERATING PROCEDURE

(Reference 4.1)




MAINDEC-9A-D02A-DN

6 ERRORS

6.1 Error Halts and Description

Reference symbol table for the address of the individual error halt address (EXXXX).

DZM E1106 E1139
DAC E1140 E1168
157 E1169 E1304
JMP E1305 E1362
CAL E1363 E1366
IMS E1367 E1407
XCT £1408 E1452
FALSE AUTOINDEX E1452A E1452)
INDIRECT E1453 E1493
TRUE AUTOINDEX E1494 E1542 |
TIME CLOCK E1543 E1547 |
Pl E1548 E1567 5
DBR | E1568 E1571
7 RESTRICTIONS
None
8 MISCELLANEOUS
8.1 Execution Time
5 M.S./Pass



FTEST,

ParTo,

Fitves,

F11a27,

£1104,

£1109,

t111e¢,

F1111,

Fi1114,

Fi11d,

TEST TARF 11 1 45
Lal «HelT
LA
bar
CAA
LALT

LA WAl T
PLAM 1

FAC 1

SFE

pALT

L AC rHALT
DR A P

LAC 2

S£A

WALT

L AC wHALT
2N &

Lag 4

SEA

HALT

LA KHALT
[#M 14
LAC 14
SAp

HALT

LAC kHALT
&M 73
LAC 24
SEp

HALT

LAC KHALT
NAM 10444
LAC 1a¢47
SEb

HALT

LAC vHALT
AN 1utve
LAC 14147
CEA

BALT

pac,

MAINDEC-9A~D02A-D

Is#

/TEST 4% @, AC=740040
/AC=74p040@

/ANIRESS ¢

JEREORS MA 4 NOT &, DZM FAJLED

yTEST D#F 1, AC=7407040
JAC=740040
/ADDRESS 1

/EXFORS MA 1 NOT @ DZm FATLED

/TEST D 2, AC=742040
/AC=740040
/ADNRESS 2

/ERROR; HMA 2 NOT @, DZM FAILED

/TEST NEM 4, AC=74004¢
/AC=740040
/ADNRESS 4

/ERKOR; MA 4 NOT @, DZM FAILED

/TEST NZM 14, AC=740040¢
/AC=740049
/ADORESS 10

/F<ROR: MA 10 NOT @, DZM FAILED

/TEST DzM 24, AC=74004¢
/AC=740049
/ADDRESS 20

/EREORS MA 20 NOT @ DZM FAILED

10040, AC=740040
/AC=740040
/ADNDRESS 10040

/TEST néM

JERFORS MA 10047 NOT @&, DZM FAILED
/TEST NAM 1010@, AC=740040

/AC=74g040

/ADNDRESS 18100

/FRKOR; MA 18100 NOT @, DZM FAILED

/TEST éM 191200, AC=74002490




F1114,

F1115,

Fi1116,

Fi117.

Fitie,

F1119,

F]]?'/,

F1121,

LAC
AN
LAY
SEp
HALT

L AC
‘.\ZN
I AC
SE
AT

P AC
A
L AC
SEA
HALT

Lac
[ A
LAC
SEa
HALT

{ AC
AN
| AC
SR
Al T

LAl
¢ f{,
Al
y
AL T

LAy
[ 2w
L AC
HALT

LAt
1A
LAl

oAy

Ra T
1 A2 00
Y

nHALT
1AL AN
1AL LY

sl T
1147
1140

wA LT
327A8
12 hAN

v ALT
14450
1 4AAR

k4oL T
I
LA 4D

pAal T
YAV
ANAR

AL
7177
7777

/a0=74@7240
/ADDRESS 120N
JERWOR; MA 10704 NOT @, D#¥ FATLED
JTIEST 4w 144006, ACZ 74004
/AC=T4ABAR
/aDNKESS 123440
JERFOR; MA 104060 NOT ©n, D#M FATLED
JTEST 4% 11086, AG=74004Q
JAC=T74AR40
/ADDRESS 117n0¢
JERFOR; MA 110¢ NOT @, nEM FAILED
JTEST 4% 124980, AC=740040

JAC=TANALY
/ADNDRESS 12va8

JERKOR; MA 12909 NGT @, D#AM FATLED

JTEST DZ¥ 14490, AC=74004444
/JAC=T74R74V
/ADDRESS 14000
/EREOR: AA 14000 NOT @, N#m FATLED
JTEST LAV 1vwdl, AC=740V 40
JLC=T7 404
JANPRESS 14vAN
JEREQP; M 1BRuR raT o4, DFM FATLED
JTEST N A2V, AC=T7al2d8)
JAC=74A4R
JADNKFESS 2Ny
JFRbOk; b 2000 wGT 9, NFmv FATLED
JTEST 040 17777, AC=744V 44
JRC=T7aBP40
JALDRESS 17777
JE Qs MA 17777 poT o, BAK FAILEV

JTEST g 7777, AC =74 ad



1122,

Fi1123%,

F1124,

F1125,

Fi1126,

F1127,

F112%3,

F1127,

FAC WHALT
v 7777
LAC 7777
G2:

CALT

LAC vHALT
N 13777
LAC 13777
SEA

HALT

LAC XHALT
DEM 15777
LAC 15777
SZA
HALT

LAC ®HALT
LAt 16777
LAC 16777
544

FALT

LAC “<HALT
(3EM 17377
LAC 177377
SEA
HALT

LAC wHaLT
BéAM 17577
LAC 17577
SZA

HALT

LAC FHALT
L2V 17677
LAC 17677
528

FALT

LAG KHALT
A 17737
FAC 17737
‘\f h

LAL T

LAarC FHALT
s 17757
LaC 17757
CZA

/AC=74004¢
/ABDRESS 7777

JTEST NEM 13777, AC=740049
/AC=74p044
/ADDRESS 13777

/FRRORS MA 13777 NOT @, D#M

/TEST 0#M 15777, AC=7404040
/AC=740040
/AODRESS 5777

/ERROR; MA 15777 NOT @, DZM

/TEST NZM 16777, AC=740040
/AC=743040
/ADDRESS 16777

/ERKORS MA 16777 NOT @, D#M

/TEST DEM 17377, AC=740040
/AC=740049
/ADDRESS 17377

/ERROR; MA 17377 NOT 0, DZM

/TEST DM 17577, AC=740040
/AC=740040
/ADDRESS 17577

/FRROR; MA 17577 NOT @, D#V

/TEST DéM 17677, AC=740¢40
/AC=740040
/ADDRESS 17677

/ERKORS MA 17677 LOT @, DZM

/TEST NZM 17737, AC=7404040
/AC=74004v
/ADDRFSS 17737

FAITLED

FAILED

FAILED

FAILED

FAILED

FAILED

/FRRORS MA 17737 NUT @ D#EM FAILED

/TEST DA 17757, AC=74A048
/AC=740047
/ADDRESS 17757




F1130,

F1131,

F11372,

F11353,

F1134,

£E1135,

£E1136,

F1137,

HALT

| AC xHalT
ngk 17767
lLAC 17767
SEA
At T

LAC #ealT
PEM 17773
Lag 17773
SEp
HALT

LAC wHalT
n&M 17775
LAC 17775
SZA

HALT

LAC KHALT
Ny 17774
LA 17776
SZg

HALT

LAC K75
N~ 17777
CMaA

SZA

HALT

cLaloMalcLl

ADI X788
N&v 17777
CMA

S#AR

BALT

SZL

HALT

LAC 17777
SZA

HALT

LAC %78
AN 126525
AL 15059
Ay 17777
AL LA s
CMe
CLA!'SZA

JEREORS MA 17757 NOT @, DM FAILED

JTEST N&M 17767% AC=74V640
/AC=749040
/ApNRESS 17767

JEREORG MA 177767 NOT @, 0FZM FATLFD

JTEST nzm 17773, AC=747¢40
/AC=T7Aa0nan
/anpRESS 17773

/FRROR; MA 17773 NMUT @, NZAM FAILED

/TEST 02M 17775, AC=740Pu4dp
/AC=T40040
/ADDRESS 17775

/ERECHS MA 1777% NOT ¢, N#AM FAILED

/TEST D#AM L777€, AC=zZT740040
/AC=740440
/ADDKRESS 17776

/EREOR: MA 17776 NOT &, D#M FAILED

/TEST AC AFTFR A DZM
/AC=0ONES
/ADDRESS 17777
/AC=0

/ERKOR: AC NOT ONES AFTER D#M
/TEST AC, LINK, ADDR, 17777 AFTFR
/A DFM, pC=0NES, L=2
/AC=UNES
/ADDRESS 17777
/AC=(
/ERROR; AC NOT ONFS AFTER A DZM

/JERROR; LINK NOT A ZERQO AFTER A DZM

/ERKROR; MA 17777 NOT @, D#M FAILED

/TFST N#M SERIES

/AC=0ONES
/ADRNKESS 12525
/ADDRESS 15252
/ADDRESS 17777
/ADDRESS 12000
/AC=0



F113¢8,

t1139,

Fi114@,

F1141,

F1142,

£1143,

£1144,

F1145,

HALT

TAlr 12525
TAD 5252
TA® 27777
TAD 1paaR
S#4

HatT

LAC K3
DAC 2
SAD @
SKP
HaLT

LAC k1
DAC 1
SAD 1
SKP
HALT

LAC k2
naec 2
SAD 2
SKP
HALT

LAC K4
(AC 4
SAD 4
SKP
HALT

LAC K1g
DAC 12
SAR 1p
SKP
HALT

LAC *ou
NAC 29
SAl 29
SKP
HALT

/FRKOR; AC NOT ONES AFTER D#ZM SERIES

/ERROR; DZM FAILED; ADDRESSES
/NOT 0

/TEST DAC %, AC=0

/AC=0
/ADORESS ¢

/ERROR; DAC ADORESS CONTENTS NOT

“/EQUAL TO THE AC, DAC FAILED

/TEST DAC 1, ACc=1
/AC=1
/ADDRESS 1

/ERROR; DAC ADORESS CONTENTS NOT
/EQUAL TN THE AC, DAC FAILED

/TEST DAC 2, AC=2
/AC=2
/ADNDRESS 2

/ERROR; DAC ADDRESS CONTENTS NOT
/JEQUAL TO THE AC, DAC FAILED

/TEST DAC 4, AC=4
/AC=4
/ADDRESS

/ERROR; DAC ADDRESS CONTENTS NOT
/EQUAL TO THE AC DAC FAILED

/TEST DAC 10, AC=190
/AC=10
/ ADDRESS

. /ERKOR; DAC ADDRESS CONTENTS NOT
/EQUAL TO THE AC, DAC FAILED

/TEST DAC 28, AC=2¢
/AC=20
/ADDRESS 20

/ERROR; DAC ADDRESS CONTENTS NOT
/EQUAL TO THE AC, DAC FAILED

/TEST DAC 10p4@, AC=10040




£1146,

£1147,

£1148,

£1149,

£E1154%,

£E1151,

F1152,

LAC K1un4g
DAC 108744
SAD 10140
SKP

HALT

LAC K1
NAC 1241420
SAN 131d4
SKF
HALT

LLAC K24
NAC 197238
SAD 182va
SKP

HALT

LAC x4y
DA 113498
SAN 1AagR
SKP

HALT

LAC ¥K11K

DAC 1iuan
SAD 11paa
SKP

HALT

LAC K12K
DAC 12040
SAN 12400
SKP
HALT

LAC K14aK
NAC 14700
SAN 141490
SKP
HALT

LAC k1#K

AC 19940
SAD 1pnva
SKP

/AC=10040
/ADDRESS 14040

/ERKOR; DAC ADDRESS CONTENTS
/JEQUAL TO THE AC, DAC FATILED

/TEST DAC 1@1an, AC=10100
/AC=1p100
/ADDRESS 10109

/FRROR; DAC ADDRESS CONTENTS
/JEQUAL TO THE AC, DAC FAILED

/TEST NAC 107289, AC=10209
/AC=1a240
’ /ADDRESS 10220

/ERRQR; DAC ADDRESS CONTENTS
JEQUAL TO THF AC, DAC FAILED

/TEST NAC 10407, AC=10400
/AC=114u0
/AGCDRESS 10408

/ERKQOR; DAC ADDRESS CONTENTS
JEQUAL T0O THE AC, DAC FAILED

/TEST DAC 114¢¢, AC=11020
/AC=11400p
/ADDRESS 11pge

JFRPOR; DAC ADDFESS CONTENTS
JEQUAL TO THF AC, DAC FAILED

JTEST DAC 1zuge, AC=12¢pn
/AC=12010
/ADDRESS 12400

/FRROR; DAC ADDRESS CONTENTS
JEQUAL TO THE AC, NAC FAILED

JTEST NAC 147u@, AC=140p0
/AC=14p00
/ADDRESS 144080

/ERRQOR; NAC ADDFESS CONTENTS
/EQUAL TO THF AC, DAC FAILED

/TEST DAC 10000, AC=10000
/AC=100v8
/ADDRESS 1p0a9

NOT

NOT

NOT

NOT

NOT

NOT

NOT



F1157%,.

F1154,

£115%5,

F1156,

F1157,

F1158,

£1159,

HALT

LAC M1uK
baC 17777
SAD 17777
SKF
FALT

LAC M4K
DAC 13777
SAD 13777
SKP

HALT

LAC M2K
LAC 15777
SAD 15777
SKP

HALT

LAC M1k
GAC 16777
SAD 16777
SkP

HALT

LAC M40
NAC 17377
SAD 17377
SKPpP
HALT

LAC M27¢
DAC 17577
SAD 17577
SKP

HALT

/FRROR; DAC ADDRESS CONTENTS
/EQUAL TO THE AC, DAC FAILED

/TEST DAC 17777, AC=M10K
/AC=76777
/ADDRESS 17777

/ERFPOR; DAC ADDRESS CONTENTS
/EQUAL TO THE AC, DAC FAILED
/TEST DAC 13777, AC=M4K

/AC=773777

/ADDRESS 13777

/ERROR; DAC ADDRESS CONTENTS
/EQUAL TO THE AC, DAC FAILED

/TEST DAC 35777, AC=M2K
/AC=775777
/ADDRESS 15777

/ERROR; DAC ADDRESS CONTENTS

/EQUAL TO THE AC, DAC FAILED

/TEST DAC 36777, AC=776777
/AC=776777
/ADDRESS 16777

/ERRQR; DAC ADDRESS CONTENTS
/EQUAL TO THE AC, DAC FAILED

/TEST DAC 17377, AC=M400
/AC=777377
/ADDRESS 17377

/ERFEQOR; DAC ADDRESS CONTENTS
/EQUAL TO THE AC, DAC FAILED

/TEST DAC 17577, AC=z=M208
/AC=777577
/ADDRESS 17577

/ERRQR; DAC ADDRESS CONTENTS
/JEQUAL TO THE AC, DAC FAILED

NOT

NOT

NOT

NOT

NOT

NOT

NOT




/TEST DAC 17477, AC=M1V W

LAC M1u9 /AC=777K77
DAC 17677 /AGDRESS 17677
SAD 17677
SKP
F1164, HALT /FRROR; DAC ADDKRESS CONTENTS nOT

JEQUAL TO THF AC, DAC FAILED

/TEST DAC 17737, AG=Man

LAC b4 /AC=777737
GAC :7737 , /ADDRFSS 17737
SAD 17737
SKP
F1161., HALT /ERFOR; DAC ADDKRESS CONTENTS NOT

JEQUAL TO THE AC, DAC FaILED

/TEST DAC 17757, AC=M2

LAC M2@ /AaC=777757
UGAC 17757 /ADDRESS 17757
SAD 17757
SKFE
F1162, HALT /ERKOR; DAC ADDRESS CONTENTS NOT

/EQUAL TO THE #C, NDAC FAILFD

/TEST NAC 17767, AC=M1n

LAC M1y /pC=777767
DAC 17767 /ADDRESS 17767
SAND 17767
SKF
£E1163, HAL T /ERROR; NDAC ADDRESS CONTENTS NOT

/JEQUAL TO THE AC, DAC FAILED

/TEST DAC 17773, AC=M4

LAC +4 /AC=T777773
DAC 17773 /ADDRESS 17773
SAD 17773
SKF
F1164, HAL I /FRROR; DAC ADDRESS CONTENTS NGT

/JEQUAL TO THF AC, DAC FAILED

/TEST DAC 17775, AC=™2

LAC »2 /AC=77777%
NAC 17775 /ADPRESS 17775
SAD 17775 ’
SKP
F116%, HALT /FERROR; DAC ADDRESS CONTEMTS NMOT

JEQUAL TO THF AC, GAC FAILFD
/TEST DAC 17776, AC=M1

LAC M1 /6C=777776
HAC 17776 /ADDKFSS
CGAT 17776
Sk
r116¢, FALT /FKHOR; NAC ANUKFSS CONTEMTS NOT

/FQUAL TO THFE AC, DAC FAILED

/TEST DAC SERIFS, L=v
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Fi1167,

F1168,

F1169,

E117a,

£F1171,

E1172,

£1173,

F1174,

cLb

LAC K7S
[AC 12525
NAC 15252
BAC 17777
(1A 11060
CMA
CLAISZA
HALT

ADD 12525
ADD 15252
LD 17777
MDD 117004
CMA

SZA

HALT

LAC K2

[HAC ¢

157 9
SKP!CLAICMA
HALT

AND K1

SAD n

SKP

HALT

LAC K1

DAC @

1S2 @
SKPICLAICMA
HALT

AND K2

SAD &

SKP

HALT

LAC K3

DAC 4

IS2 @&
SKP!CLA!CMA
HALT

AND K4

SAD 7

SKP

HALT

/AC=0ONES
/ADDRESS 12525
/ADDRESS 15252
/ADDRESS 17777
/ADDRESS 11400
/AC=0
JERROR; AC NOT ONFS AFTER DAC SERIES
/ONES
/ONES
/ONES
/ONES
/AC=0
/ERROR; DAC FAILED, ADDRESSES NOT
/ONES
/TEST 1SZ 0, (@)=
/AC=0
/ADDRESS =9
/AC=0ONES
/ERROR; ISZ SKIPPED
/AC=1
/ADDRESS=p
/ERROR; (@) NOT 1, 1Sz
/FAILED
/TEST 1SZ @, (@)=1
/AC=1
/ADDRESS=#7
/AC=0NES
/ERROR; 1SZ SKIPPED
/AC=2
/ADDRESS=0
/ERKOR; (@) NOT 2 IS%Z
/FAILED
/TEST 1SZ p, (@)=3
/AC=3
/ADDRESS=0
/AC=0ONES
/ERROR; 1SZ SKIPPED
/AC=4
/ADNRESS=@
/ERROR; (@) NOT 4, 1Sz

/FAILED

i1




£1175,

F117¢,

£E1177,

Fi178,

£1179,

F£118¢,

Fi11s1,

F1182,

F1ip.4,

Fi11Ra,

LAC X7

DAC @

1SZ o
SKPICLAICMA
HALT

AND K1

SAR »

SKp

HALT

LAC ¥17

NAC ¢

1S4 2
SKP!CLAICMA
HALT

AND K2

SAD

SKP

HALT

LAC <37

AT -

1Sz =
SKP!ICLAICMA
HALT

AND ¥ 41

SAD 2

SKP

HALT

LAr K77
DAC

157

SKP oL 1OMp
HALT

AND w104
SAD

SKP

HFALT

LAC %177
DAC

IS
SKPritiiat (UM
FAL T

e
SAD

SKP

HALT

/TEST I1S2 6, (»)=7

/AC=7
/ADURFSS=p
/AC=0ONES
/ERFOR; 1SZ SKIRPFD
/AC=1%

/ADNRESS=¢

ZERROR; (6) NOT 14, 1Sz
JFATLED

JTEST 15# 0, (pr=17

/AC=17
/AODRFSSzp
/AC=ONES
/ERKOR; ISz SKIrpPFnD
/AC=2n
/ADDRESS=p

/EKRORS () NOT 2¢, 1Sz
/EATLED

/TEST 1S4 &, (¢)=37

/AC=37
/ADBRESS =02
/AC=0ONES
/ERKOR; 1SZ2 SKIFPFD
/AC=4¢

/ADNRFSS=0

/ERROR; (¢) NOT 4¢, Sz
/FALLED

/TEST 1S4 #, (®)=77

/AC=77
/ADGRESS=R
/AC=ONES
/JERFOR; 1S# SKIPPFD
/AC=1¢0

/ADDRESS=0

JERROR; (@) NOT 1¢6, 1Sz
/FATLED
/TEST 1S4 & (@)=177

/AC=177

/ADUDRESS=0

/AC=ONES
JERKOF; [1SZ2 SKIPPF{; .

/AC=2: 0
JAUNKFSS=¢

/FREOR; (¢) NOT 2vn, 1Sz
/FATLED

3




Fl116=,

E‘L18~'\y

F1187,

P18,

F1189,

£F119%,

F1191,

F1167,

F1194%,

L all ¥ 277
LAC

154 4
SKPIOLAICMA
HALT

PN LA
AN

HKP

HALT

LAC 777
YA A

157 #
SKELCLATOMA
HALT

AND KK

SAD

SKP

AL T

LAaC ¥1777
[HAC &

1S7 %4
SKP!CLAICMA
HALT

ANDN K2K

SAD =«

SKP

HALT

LaC »37/7
ITAC

IS4
SKPITLLAICMA
HALT

LND 7 4K

HAND @

SKP

HALT

| AC w7777
MAf

1S#7
SHetrLeIOMe
AL T

[ L I
YA

LKP

AL T

JTEST 157 v, (¢)=377
/AC=377

/ADTRESS=¢
/AC=ONES
/Fr0DR; 1S%2 SKIPPFL
/AC=4v )
/ANDRESS=¢

/ERFOPS () NOT 4¢0,
/FATLED

/TEST 1572 0, (2)=2777
/AC=777

/ADNRESS=0
/AC=0NFS
/FREQOR; 1S# SKIPPED
/AC=1000
/ADURESS=0

/ERFOR; (@) NOT 1eua,
JEALLED

JTEST 1S4 o, (#)=1777
/AC=1777

/AGLRESS=0
/AC=0ONES
JERPOR; 1Sz SKIPPED
/AC=z=2004
/ADDRESS=9

/ERRORS (@) NOT 2000,
/FATLED

/TEST 1S4 0, (9)=3777
/AC=3777

/ADORESS =0
/AC=0NFES
/ERKOE; ISZ SKIPPED
/AC=47030
/ADDRESS=0

/ERROR; (@) NOT 400,
/FATLED

/TEST 15?2 @, (B)=7777

/AC=7777
/AONRESS=0
/AC=(NF 3
/ERPUOR; 1SZ SKIPPED
/A0 =10K

/L RESS=0

/F==0R; (@) NNT 10K,
/ZFALTLED

JTEST 1 o, (9)=17777

13

1S%7

157

1Sz

1S2

1Sz

§
;
i




£E1195,

£1196,

F1197,

E1198,

£1199,

E12aa,

£1201,

£E1202,

£1203,

£1204,

STaART

LAC K17777
DAC @

1gZ w
SKP1CLAICMA
HALT

AN Ko22K
SAND ¢

SKP

HALT

LAC K37777
DAC @

I1SZ2 @
SKP!CLAICMA
HALT

AND K404K
SAD @

SKP

HALT

LAC K77777
DAC @

IS
SKP!ICLAICMA
HALT

AND K1083K
SAD ¢

SKP

HALT

LAC MeRGAK
DAC &

1SZ2 &
SKPI!CLA!CMA
HALT

AND K2u3K
SAD @

SKP

HALT

LAC M4@anK
DAC @

ISz o
SKP!CLA!ICMA
HALT

AND K 400K
QAD 7

SKP

HALT

/AC=17777

/ADNRE 5=
/AC=0NES
/ERROR; 1Sz SKIPPED
/AC=2VK
/ADNRESS=p

/ERKOR; (@) NOT 2¢kK,
/FAILED

/TEST 1S4 &, (©¥)=37777
/AC=37777

/ADDRESS=p
/AC=0ONFES
/ERROR; ISZ SKIPPED
/AC=4pK
/ADORFSS=p

/ERROR; (@) NOT 49K,
/EAILED
/TEST 152 @, (#)=77777
/AG=77777

/ADDRESS =@
/AC=ONES
JERROR; ISZ SKIPPED
/AC=100K
/ADDRESS=0

/ERKORS (@) NOT 1¢0K,
/FALILED

/TEST 1S# @4, (@)=177777
/AC=177777

/ADDRESS=d
/AC=0NES
/ERROR; ISz SKIPPED
/AC=200K
/ADDRESS=@

/ERROR; (@) NOT 20@K,
/FAILED

/TEST 1S%2 @8, (@)=377777
/AC=377777

/ADDRESS=0
/AC=0ONES
/FRROR; [SZ SKIPPED
/AC=4P0K
/ADDRESS=0

/FRROR; (@) NOT 400K,
/JFATLED
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1Sz

152

1S2

152

IS#

0



/JINGT

Flr/':"Llo

F1z¢e,

Fiza7,

F12ib,

£12a9,

F1219,

Fiz11,

F1213,

Fi1z14,

TEST TAPF 17

LA MY

nac 17777
1§72 17777
SKPICLAICMA
Habl T

Anly 79

SAly 17777
SKg

HALT

ILAC M2

JAC 17777
1sZ2 17777
SKPI1CLAYCMa
HALT

AND M4

SAD 17777
SKP

HALT

LA M4

OAC 17777
1S#2 17777
SKP!CLAICMA
HALT

AND M3

SAD 17777
SKP

HALT

LAC Hiw

nNAC 17777
157 17777
SKPINLAICMA
HALT

AND M7

SAD 17777
SKP

HALT

LA Mpu

LWAC 17777
1S# 17777
SKPI!CLAICMA
HALT

AND M17

SAD 17777
SKP

HALT

/TEST 1S+ 17777, (17777)=777776
/AC=T777776

/ADDRFSS=17777
/AC=0ONFS
/ERKQR; [S# SKIFPEY
/AC=777777
/ADDRESS=17777

/ERROF: (17777) NOT 777777, IS#
/EAILED ’

/TEST 1S#2 17777, (177771)=777775
/AC=777775%

/ADDRESS=17777
/AC=0NES
JERRQOR; 1Sz SKIPPED
/AC=777776
/ADDRESS=17777

/ERKOR; (17777) NOT 777776 1S2Z
/FALLED

/TEST 1S#2 17777, (177771)=777773
/AC=777773

/ADDRESS=17777
/AC=0NES
/ERFOR; ISZ SKIPPED
/AC=777774
/ADDRESS=17777

/ERKOR; (1777) NOT 777774, 1S%
/FATILED

/TEST 1S# 17777, (177773=777767
/AC=777767

/ADDRESS=17777
/AC=0ONES
/FRROR; [SZ SKIFPED
/AC=7777780
/ADDRESS=17777

/ERROR; (17777) NOT 77777¢, 1SZ
/FAILED

/TEST 1S# 17777, (17777)=777757
/AC=777757

/ADDRESS=17777
/AC=ONES
/JERROR; 1SZ SKIPPED
/AC=77776@
/ADDRESS=17777

/ERROR: (17777) NOT 777760, ISZ
JEATLED
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F1715,

F1216,

£F1217,

Fi1z1e,

£1219,

£1224,

Fi1221,

£1222,

£1223,

t1224,

LAC “4f(

YAC 17777
1S# 17777
SKP IO AICMA
HALT

AND 37

SAD 17777
5KP

HALT

LAC 1*1p
NAGC 17777
1§S2 17777
SKPICLAICMA
HALT

AND » 77

SADN 17777
SKP

HALT

LAC woma
NAGC 17777
[§# 17777
SKP!ICLAICMA
HALT

AND 477
SAD 17777
SKP

HALT

| AT Mg
LAC 17777
1572 27777

SKPIFLAICMA
HALT

AN ¥377
SAD 17777
SKP

HALT

LAC 1K

NAC 17777
1S# 17777
SKETOLATCMA
HALT

ANl 8777
SAL 17777
SKF

HALT

/TEST 157 17777,

/AC=UGNES
/AC=777749
/ERFORS (17777)
/EALTLED

/NC=T777737

(177771)=777737

/ADDRESS=17777

/ERM0OR; 1SZ SKIPPEN

/ADDRESS=17777

NCT 77774v,

JTEST I8¢ 17777, (1777712777677

/AC=T7T774A77

/ADDRFESS=17777

/AC=ONES
/ERROR; 1SZ SKIPPED

/FAl

/AC=777700

/ABDRESS=17777

JERROF; 1Sz SKIPPED

Ef

JTFST 1S% 17777,

/AC=TTTINTT

(177773)=777577

/ADDRESS 17777

/AC=0ONFS
/JERVFOR; 1SZ SKIFPEN

/RC=77760C

/ADDRESS=17777

JERKQOFR; (17777)

/FAILED

/TEST 1S?2 17777,

/AC=777377

NGT 77760,

(17777)=777377

/ADDRESS=17777

/AC=ONFS

JERKOR; (17777)

/AC=77740¢

NOT 77760,

/ADNRESS=17777

/ERKOR; (17777)

/FATLED

/TEST

/AC=0

/FATL

/TEST

16

IS¢ 17777,
/AC=T776777

NOT 777402,

(17777)=776777

/ADDRESS=17777

NES
/FRKOE; ISZ
/AC=T777796

SKIPPFD

/ADDRESS=17777

/ERKOR; (17777) NOT 777000,

£n

IS¢ 17777,

(17777)=77%777
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1S#

1Sz
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<

F1205,

F1726,

F122¢8,

F1229,

Fi73¢,

F1231,

F1232,

F1233,

LAC M2k

DAC 17777
1572 17777
SKPIMLAICMA
HALT

AND #1777
SAlY 17777
SKP

HALT

LLAC Mdax

BAC 17777
1S#2 17777
SKPYOLAICMA
HALT

AN M3777
SAD 17777
SKP

HAL T

LAC M1MK
DAC 17777
1S# 17777
SKP!rLAICMA
HALT

AND “7777
SADh 17777
SKP

HALT

LAC MogaK
GAC 17777
TsZ 17777
SKPtCLAICMA
HALT

AND M17777
SAD 17777
SKP

HALT

LAC MguK
NDAC 17777
1S7 17777
SKPICLA!ICMA
FALT

ANDY M37777
SAD 17777
SKF

HALT

/AC=T775777

/ADNRESS=17777
/AC=0NES
/ERKOR3 (17777) NOT 776000,
/AC=T776000
/ADDRESS = 17777

/EREORS (17777) NOT 776000,
/FATLED

/TEST Is#¢ 17777, (17777)=2773777
/6C=773777

/ADDRESS=17777
/AC=0ONES
/ERKROR; 1SZ SKIPPED
/AC=774000
/ADDRESS=17777

/ERROR; (17777) NOT 774000,
/FATLED
/TEST 1Sz 17777, (17777)=767777
/AC=767777

/ADDRESS=17777
/AC=0NES
/ERROR; ISZ SKIPPED
/AC=7700008
/ADDRESS=17777

/ERROR; (17777) NOT 7748@n,
/FAILED

JTEST 1S# 17777, (177773=757777
/AC=757777

/ADDRESS=17777
/AC=0ONES |
JERKOR; (17777) NOT 770089,
/AC=760030
/ADDRESS=17777

/ERFOR; (17777) NOT 760000,
/FAILED

/TEST 1S# 17777, (1777712737777
/AC=737777

/ADDRESS=17777
/AC=0NES
JERROR; (17777) NOT 760089,
/AC=740A0@
/ADDRESS=17777

/ERRQOR; (17777) NOT 740000,
/FAILED
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F1236,

£E1237,

£1238,

Fi240,

F1241,

£1242,

£1243,

£E1244,

LAC 14K
DAC 17777
I1S# 17777
SKEICLAYCMA
HALT

aND ~77777
SAD 17777
SKFE

HALT

LAC 420K
DAC 17777
1S2 17777
SKP!CLAICMA
HALT

END % 611K
SAD 17777
SKP

FALT

LAC #44pK
WAC 17777
1S2 17777
SKP!TLAICMA
HALT

AND ¥ 402K
SAD 17777
SKF

HALT

LA

x0fe w75
FAC v
157
RALT
LLAC
SEA
HALT

/TEST 1S4 17777, (17777)y=677777
/ANC=677777

/ADBNRESS=17777
/AC=UNES
/ERKOQFS 1S# SKIPPED
/AC=T7V 4400
/ADDRESS=17777

/ERKEORS (17777) NOT 740000, [S7
/FEATLEDR

JTEST 1S# 17777, (17777)=57777
/AC=577777

/ADDRESS=17777
/AC=0ONF S
/ERKOR; 1Sz SKIFPFD
/AC=600VVY
/ADDRESS=17777

/ERKOKS (17777) NOCT 600088, 1S%
JEATLED

/TEST 1S# 17777, (17777)=377777
/AC=177777

/ADDRESS=17777
/AC=0ONES
/FRROR; 1SZ SKIPPED
/AC=420000
/ADNRESS=17777

/ERROR; (17777) NOT 490000, 1SZ
/FAILED

/TEST 1S# ¥, (2)=0ONES
/AC=1
/AC=0NES

/ANNRESS=0

JERROR; 1S% FAILEND TO SKIp

/ADNDRFSS=p

JERROR; (®) NOT @, 1Sz FAILED
/JTEST 1S# 1, (1)=0UNES

/AC=i

/AC=0ONES

/ADDRESS=1

JEuEOR; IS% FAILEN TO SKIP

JADNDRESS =1

JEKKOK; (1) NOT 9, 1Sz FAILED

/TEST 1S#2 2, (2)=0NES
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£E1247,

F1248,

£1249,

E1754,

E1251,

£1252,

£1253,

£E1254,

LA
XO0F X759
AC 2
15# 2
HALY
LLAC ?
SZA
HALT

CLA

X0k K7S
NAC 4
1S5# 4
HALT
LAC 4
SZA
HALT

CLA

XOR K7S
DAC 12
1SZ 10
HALT
LAC 10
SZA
HALT

CLA

XOR K75
NAC 20
1SZ 2%
HALT
LAC 24
SZA
HALT

CLA

¥XOR K7S§
AC 14u4n
1S4 1304a
HALT

LAC 1001408
SZA

HALT

/TEST

/TEST

/TEST

/TEST

/AC=0
/AC=0NES

/ANNRESS=?
JERROR:; 1sZ FAILLED TO sKIp
/EDDRFSS=?

/FRROR; (?2) NOT @, ISZ FAILED
1572 4, (4)=0NES

/AC=@

/AC=0NES

/ADDRESS=4
/ERROR; 1SZ FAILED 70 SKIP
/ADDRESS=4

/ERKOR; 1S# FAILED TO SKIP

1S# 14, (13)=0NES
/AC=8
/AC=0NES

/ADDRESS=10
/ERROR; IS# FAILED T0O SKIpP
/ADDRESS=10

/ERROR; (10) NOT @, ISz FAILED

1S 20, (23)=0NES
/AC=@
7AC=0NES

/ADDRESS=20
/ERROR; [IS#Z FAILED TO SKIp
/ADDRESS=20

/ERRQOR; (28) NOT @, ISZ FAILED
1Sz 18A44A=0NES N

/AC=8

/AC=0NES

/ADDRESS=100R40
/ERROR; ISZ FAILED YO SKIp
/ADDRESS=10040

/ERROR; (10@4@) NOT @; 1Sz FAILED

/TEST ISZ 1@10@=0NES
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F1255,

E];'bor

£E1261,

Fiv62,

F1 "”65)

E1z66,

/rC=d
/AC=0UMES

/ADDKESS=11U10A0

/EREOR: 1Sy FaILEN

1) SKiIp

/ADNKESS=121 01

/ERFOP; 1014y NUT

/TEST 1S7 1aA2A6:=0ONES
/AC=W
/AC=0ONES

/ADDRFSS=10200

/FreOp;s Teg FALLED

10 sKlIp

/ADNRESS=10220

/EREOKRS 1w240 NOT ¢,

/ZTFEST 1S# 31440¢=0NFS
/AC=9
/AC=0ONES

/ADDRESS=1vanp

/ERKOR; 182 FALLED

/ADDRESS=

/FRROP; 1#4v@ NOT 0,

/TEST 154 1193¢=0NES

o skiIp
11420

/AC=0
/AC=0NES
/ADDRESS=11¢400
/ERrKOKs 1SZ FAILED TO SKIp
/ADNDRESS=11000

i, 1SZ FAILFD

[SZ FAILFD

ISZ FAILED

(W)

XQR # 78
LGAC 14146
1§72 1 a1wip
AL T

ILAC 1414w
“Ea

AL T

LA

XQR =75
AL 4 404p
1g¢ 1429
HAL Y

LAC 1142 ap
SEA

FALT

LA

XQk h7<
DAC 142400
1S4 12490
HALT

LAC 17400
SEA

FALT

CLA

XOR w7S
[FAC 11090
1SZ 11020
HALT

LAC 11499
S2p

HALT

CLA

X0k <79
DAC 1240
ISz 12u9e
FALT

LAC 12049
SEA

HALT

CLa

YL vy
HHAC 14747
|57 1A%
FaL T

I AC 2 4%up
("‘A

EALT

JFREORG [Sz FAILED TO SKIP

/TEST 1S7 12 °38=0NFS
/AC=0
/AC=0MNFES

/ADDRFSS=12000

/FERROP; ISZ FAILED TO SKIp
/ADDRESS=12000

/FRROR; (12400) NOT @, 1SZ FAILED

/TEST 1S 14u@¢=0NFS

/AC=0)

/AC=UNES
/ADNKESS=14000

JERROP; 1SZ FAILEL T0 SKIp
/ADNKF SS 214060

JERFOR; (147@¢) NOT @, 1Sz FAILED

JTEST IS4 147230, (18400 )=OMES
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A

E1-45,

Fi1z46,

£E1247,

F1248,

£1249,

E1254,

£1251,

F1252,

£1253,

£E1254,

LA

XQF ®7S
[AC
154 7~
HAL]
LLAC ?
SEA
HALT

AN

CLA

X0k K7S
hAC 4
[S% 4
HALT
LAC 4
SZA
HALT

CLA
X0k K7S
DAC 12
ISZ 18
HALT
LAC 10
SZA
HALT

cLa

XOR X7S
NAC 2a
ISZ 29
HALT
LAC 22
SZA
HALT

cLa

¥OR K75
LAC 13040
1S4 14140
HALT

LAC 10149
SEA

HALT

/AC=0
/AC=0NES

/ADDRESS=?
/ERROR; IgZ FAILLED TO SKIP
/ADDRFSS=2

/FRROR; (2) NOT @, ISZ FAILED

/TEST 157 4, (4)=0NES

/AC=0
/AC=0NES

/ADDRESS=4
/ERROR; I1SZ FAILED 70 SKIP
/ADDRESS=4

/ERKOR: ISZ FAILED TO SKIP

/TEST 1S# 14, (12)=0NES

/AC=0
/AC=0NES

/ADDRESS=10
/ERKRORS: I1SZ FAILED 70 SKIp
/ADDRESS=1¢

/ERROR; (18) NOT @, ISz FAILED

1S 26, (20)=0NES
/AC=0
/AC=0NES

/ADDRESS=20
/ERROR; 1S2 FAILED TO SKIp
/ADDRESS=20

JERROR; (20) NOT @, 1SZ FAILED
1S# 10M4A=ONES -

/AC=9

/AC=0NES

/ADDRESS=10040
/ERROR; ISZ FAILED TO SKIP
/ADDRESS=10040

/ERROR; (10049) NOT @; 1Sz FAILED

/TEST 1S? 101@@8=0NES




F125%,

Ei1vbo,

£E1259,

FE1z6v,

£E1261,

F12672,

F1765,

E1z64,

CLA

X0k » 75
GAC 19146
1$7 1ALMR
AL T

LA v A1 40
2 A

AL T

CLa
XOQR . » 75
AC 44000

ISz 1403

HALY
LAC 1422
SZA
FALT

LA

X0k w7¢
DAC 14400
[S# 14400
HALT

LAC 17400
SZA

FALT

CLA

XQR ¥ 7S
[FAC 11040
I1SZ 11920
HALT

LAC 11492
S2p

HALT

CL#

X0k

AC

1S#

FALT
LAC 12049
S#»

HAL

S

Ky
437

- %
~

—
N A
IASIEN

(La

YN w7
DAL 14 A
157 1 4eag
FALT

FAC s dway
L‘,A

RALT

/PC=0
/AC=0HES

/ADDKRESS=11100
/JEREOR; 18y FAILFD 10O SKIp
JADDRESS =191 a0

/bxFOP s 1w12y NOT o, 1SZ FAILFD

/TEST ISZ 14230=NNFS
/AC=y
/AC=0NES

/ADDRFSS=107220
/FRROR; Tez FALLED 10 gKIp
/ADORESS=z102010

/ERFORS 110240 NOT ¢, 1SZ FAILFD

/TEST 1S7 14400 =0NES
/AC=0
/AC=0ONES

/ADDRESS=1un4pp
/VREQR; ISZ FAILEDL TO SKIP
/ADDRESS=10400

/ERROR; 1#4u@ NOT », 1SZ FAILED

/TEST IS# 1194¢¥=0NES
/AC=9
/AC=0NES

/ADDRFSS=1100@
/ERKOKS 1SZ2 FAILED TO sKIp
/ADDRESS=11000

/FREOR; IS¢ FAILER TO SKIP

/TFST 1Sz 42 3@¢=0NFS
/AC=0
/AC=QMNES

/ADDRESS=12000

/ERROP; ISZ FAILED TO SKIp
/ADDRESS=12000

JERNOR; (12408%4) NOT ¢, 1SZ FAILFD

/TEST 1S# 14vap=0NES

/AC=0

/AC=NES
/ADNKFSS=14000

JFrROP; 1S2 FAILEL TD SK]p
/ADNKESS =140

JERKOR; (144a¢) NOT m, 1Sz FAILED

/TEST IS# 10290, (1#4h0)=ONES
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A3

b1767,

F126b,

F1269,

F127m,

E1271,

E1272,

F1273,

E1z74,

K175,

F1e76h,

LA

SR HTS
LA 1A 54
I;;} 14 aiA
AL T

LAC 140 50
S A

FALT

LA

xXQF k78
NAC 17777
1§22 17777
BALT

Lac 17777
SEA

HALT

CLA

X0F x7S
{AC 7777
1S72 7777
HALT

LAC 7777
SZA

HALT

CLA

XOR 78§
DAC 13777
182 13777
HALT

LAC 13777
S#a

HALT

cLa

XJR ¥ 78S
NAC 15777
IS# 15777
HALT

LAC 15777
SZA

HALT

(LA

X0k ¥ 78
A 16777
157 16777
FALLT

LA /777
S£A

FALT

/AC=4
/AC=0ONES

/ADDRESS=130008

/FRROR; (404@) NOT @, 1Sz FAILED

/ADDRESS=19000@

/ERKOR; (127290) NOT @, 1Sz FAILED

/TEST 1S# 17777, (17777)=0NES
/AC=0
/AC=0ONES

/ADDRESS=17777
/ERKOR: IsZ FAILED 10 gKlip
/ADDRFSS=17777

/ERROR; (17777) NOT @, 1Sz

/TEST 1SZ 7777, (7777)=0NES
/AC=¢
/AC=0NES

/ADDRESS=7777

/ERROR; ISZ FAILED TO SKIP
/ADCRESS=7777

/ERROR; ISZ FAILED TO SKIP

/TEST 1SZ 13777, (13777)=0NES
/AC=0
/AC=0NES

/ADDRESS=13777
/ERKOR: ISZ FAILED TO SKIp
/ADDRESS=13777

/ERKOR; (13777) NOT @, 1Sz
/TEST 1S# 15777, (15777)=0NES
/AC=9
/AC=0NES
/ADDRESS=15777
/FREOR; ISZ FAILED TO SKip
/ADDRESS=15777

/ERKOR; (15777) NOT @, 1SZ

/TEST 157 16777, (16777)=0NES
/LC=D
/AC=0NES

/ADNRESS=16777
/Er~OR: IS# FAILED TO SKIp
/ADDRESS=16777

/ERROR; (16777) NOT @, 15z
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£1281,

ri282,

F1783,

“E1284,

£1287,

£E12848,

cLa
X0OR

[AC
1s#
FALT
l.LAC
SEA
FALT

CLa
X0k
DacC
1s7
FALT
LAC
SEA
HFALT

CLa
XOR
AC
18¢#
FALTY
LAC
SZA
HALT

CLA
XOR
IAC
1S7
HALT
LAC
S A
HALT

rLe
xX0e
DAC
IS#
HALT
LAC
SZa
HALT

LA
X1k
VAT
1S4
EALT
LAC
K24
FALT

k7S
17377
17377

17477

F7§
17%77
17577

1777

«7<
1777
17677

17677

K75
17737
17737

17737

K7S
17757
17757

177%7

. 7<
©7767
© 1767

17767

/TEST 1S# 17477, (17377)=0NES
/AC=1
/ACEONES

/ANDRESS=17377
JEREDR; IS4 FAILES TO sKlg
/AUNRESS=17377

/ERRORG (17377) NOT @, 1Sy

/TEST 1874 17477, (17%77)=0NES
/AC=1
/AC=0NES

/ADDRESS=17577
/FRrOR; ISZ FAILED 7O gKip
/ADNDRESS=17577

/FRROR; (17577) NOT @, 1Sz

/TEST 1S4 17477, (17677)=0NES
/AC=0
/AC=0NES

/ADDRESS=17677
/ERKOF; ISZ FAILED TO SKIP
/ADDRESS=17677

/ERROR; (17677) NOT @, 1SZ

/TEST 1S# 177377, (177377)=0NES
/AC=z=0
/AC=0NES

/ADDRESS=17737
/ERROP; IS4 FAILED 70 SKlip
/ADDRFSS=17737

/EREOR; (17737) NOT 9, ISz

/TFST 1S4 17757, (177%7) =0NES
/AC= .
/AC=ONES

/ADDRFSS=17757
/FRKOR; 1SZ FAILEN TO SKIp
/ADDRESS=17757

/FRROR; (1775%7) NOT @, 1S7
/TEST 1S# 17767, (17767)=0NES
/AC=Y X
/AC=0ONES
/ADDKFSS=17767

JERnOR3 1SE FAILED TO SKIp
/ADDRESS=17767

JERKOR; (17767) NOT @, 1Sz
JTEST 1S# 17773, (17773)=0NES
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F1291,

F17292,

F1295,

F1296,

£1297,

£10°98,

F130 %,

CLa

ik or 7¢
LAC 17773
Is# 17773
HALT

LAt 17773
CHp

FALT

CLA

XOR ¢ 7S
NAC 17775
Isz2 17775
HALT

LAC 17775
SZA

HALT

CLA

0Ok k7S
UAC 17776
I1s2 17776
HALT

LAC 1777¢
SZA

HALT

CLA

X0OR ¥7S
NAC 15252
1§84 15257
HALT

LA 15252
SHA

-ALT

LAC ®7S
DAC 12825
NAC 15292
NAC 17777
DAC 11222
1S7 12525
SKP

IS4 15257
SKP

1S2 17777
SKP

1S7 110040
HALT

ADD 125285
ADND 15282
A 177277
ADD 11eav
l’* M f\

SEA

HALT

/AC=)
/AC=0ONESg

/ADDRESS=17773
JERROR; ISz FAILED TO SKIp
/ADNDRESS=17773
JFRROR; (17773) NOT @, 1Sz FAILED
/TEST 1S# 17775, (1777%)=0NES
/AC=y
/AC=0MES
/ADDRESS=17775
/FERRUR: IsZ FAILED TO gKlp
/ADDRESS=17775
/ERROR; (17775) NOT @, 1Sz FAILED
JTEST 1S# 17776, (17776) =0NES
/hC=g
/AC=0NES
/ADDRESS=17776
/ERROR; ISZ FAILED TO SKIP
/ADDRESS=17776
JERKOR; (17776) NOT @, 1SZ FAILED
/TEST 1S7 15252=0NES
/AC=0
/AC=0NES
/ADDRESS=15252
/EREOR: 1SZ FAILED TO sKIp
/ADDRESS=15252
/FRROR; (15252) NOT @, 1Sz FAILED

/1S4 SERIES TEST, SKIP
/AC=0NES

/ADDRESS=12525
/ADDRESS=15252
/ADDRESS=17777

/ADDRESS=11000
/FRFEOR; IS#Z FAILED TO SKIP

/ERROR;: ALL ADDRESS NOT @
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F1301,

E1302,

FE13e4,

START

LAC M4k
NAC 12525
A 15257
NAC 17777
TAC Ak
1S# 2525
187 15252
Tg?7 +7777
g7 11004p
CLA

ADD 17525
ADD 15252
ADDY 17777
ADD 11096
Xx0R w2
GZ A

HALT

LAC 78
BAC 15252
157 15252
SKEP

SKP

HALT

ILAC K7S
NAC 15252
SKP

HOP

1Sz 15252
HALT

{ AC ¥@
[YAC 150252
SKP

MOP

1S# 5252
SKP

HALT

/15¢ SFRIES TEST, NO-SKIP
/AC=377777

/ADNRESS=12525
/ADDRESS=15252
/ADDRESS=17777
/ADNRESS=11000
/(12525) 440K
/(15252)=440K
/(17777)=430K
/(1190@)=42pK

/RESULT=2

/ERFOR; ALL ADDRESSES NOT 4mpk

/TEST 1S#-SKP, SKIP
/AC=0ONES

/ADDRESS=15252

JFERROK; [Sz~-SKP FalLED TO SKIP

/TEST SKP-1S#, SKIP
/AC=0ONES

/ADDRESS=15252
/ERROR; SKP-1Sz FAILED TO SKIP

/TEST SKP-1S#, NO-SKIP
/AC=0

/ADDRESS=15252

/FRROF; SKP-1Sz SKIPPED
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JEEP=9 INSTRUCTION TFST PART 2

FX,
INjTaK,

FXX

'4Unx L

F1395,

RJMpi,

F1306,

RJIMPT,

Fi13e7,

RJMP2,

LLAC JUMPRET
SZp

HALT

LAC JUMPg72
aC JUMPRET
LAC KX
HAC RJCNT
SKP

AM O UMPRET
LAC UMP2?2
DAC 1 RJCNT
182 ~JrNT
LAC RJCONT
SAD K17777
SKP

JMP -7
LAC JMPRET
SEA

HALT

LAC ¥M0D
NAC FX=3
NOP

LAC Jo
SZA
HALT
LAC RJ2
AC Jn
NAC
Jup o
SKP

NEM U9

LAC U1
SZA
HALT
LAC RJ1
NAC J1
[*tAC 1
JMP 1
S5KF

fiZEd J1

LAC J2
SZA
HALT
LAC RUZ
IPAC )2
AC 2
JMpP 7
SKP

izM a2

I AC J4
SZA

TAPE 13

/ERKEQOR; JUMP, -7 FAILED (INIT4K)
ZINITIATE UPPER 4K T0O JMP22
/ERROR TABLE ADDRESS
/SA = 1npov
/ADDRESS REGISTFR

/CLEAR UMP,-7 ERROR TABLE

/STORE JMP22
/+1 TO ADDRESS REG

/BA = 17777

/IMP =7

/ERROR: JMP -7 FAILED IN AROVE

/  ROUTINE
/PRESS CONTINUE TO DETERMINE JMP
/  FAILURE

/TEST UMP @, RJUMPg,
/JMP TARLE ERROR ADDRESS

/ERROR; JMP @ OR RJUMP@ FAILED
/STORE JMP ADDRESS IN TABLE

/STURE RJMP INSTRUCTION
/JMP TO @

/CLEAR J@ ERROR ADDRESS

/TEST JUMP 1, RJUMP1L,
/JMP TABLE ERROR ADDRESS

JERKOR: JMP 1 OR RJUMP1 FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION

/IMP TO 1

/CLEAR J1 ERROR ADDRESS

/TEST JUMP 2, RJUMP2,
/JMP TABLE ERROR ADDRESS

/ERROR; JMP 2 OR RJUMP2 FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION

/JMP TO 2

/CLEAR J2 ERROR ADDRESS

/TEST JUMP 4, RJUMP3,
/JMP TABLE ERROR ADDRESS
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£1308,

RJMPZ,

RJMP4,

F131¢,

RUMPs,

£1311,

RJMPE,

F1312,

RJMP7,

F1313,

HALT
LAC RJ3
DAC J4
DAC 4
JMP 4
SKP

NZM Ja

LAC v
SZa

RHALT

LAC HJ4
DAC Jie
NAC 13
JMP 12
SKFP

GgM J1e

LAaC Jow
SZA
HALT
LAC FJS
DAC Jpoe
DAC 22
JMP 2
SKFP

M (02;

LAC Jap
SZEA

HALT

LA RJF
DAC 4%
AC 19440
JMP 1G4
SKF

DAF 45

LA J1v44
SZA

HALT

LAC RJ7
DAC Ji1ow
DAC 12190
JMP 13106
SKP

DZmM J1au

LAC 2wy
SZ¢

HALT

LAC =JR
PAC U200
DAC 14204
JMP 109220
SKP

/FRREQORS JMP 4 OR RJUMP3 FAILED
/STORE UMP ADDRESS IN TABLE
/STORE rRJMP INSTRUCTION

/UMP T0O 4

/CLEAR J4 ERROR ADDKESS

/TEST UMP 14, RJMP4,
/JMP TARBLF ERROK ADNRESS

/ERRQOR; JMP 10 OR RJUMP4 FALLED
/STORE JUMP ADDRFESS IN TABLE
/STORE RJUMP INSTRUCTION

/JMP TO 1¢

/CLEAR Jiv ERROR aDDRESS

/TEST JUMP 24, RJMPS,
/JMP TARLF FRROR ADDRFSS

JERROR; JUMP 2¢ OR RJUMPS FAILED
/STORE JUMP AaDDRESS IN TABLL
/STORF RJUMP INSTRUCTION

/JMP TO 2@

/CLEAR J2¢ FRROR ADDRESS

/TEST JUMP 10an4n, RJIMPg
/JMP TARLF FRROR ADDRESS

/ERKOR; JUMP 1¢@421 OR RJUMPg FAILED

/STORF UMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION
/IMP T0 10p4p

/CLEAR J4¢ FRROK ANNDRFSS

/TEST JMP 1410¢, RUMP7,
/JMP TAKLF FRROK ADNRESS

/ERROR; JMP 1m1@¢d OR RJIMP7 FAILED

/STORF JMP ADDRESS IN TABLE
/STORE RJUMP [NSTRUCTION
/JMP T0 10100

/CLFAR J1@0 ERROR ADDRESS

/TEST JUMF 14280, RJIMPS,
/JMP TABLF ERROR ADNRFSS

/FREQR: JUMP 19280 0K RJMP8 FAILED
/STORF JMP ADDRESS IN TABLE

/STORE RJMP INSTRUCTION
/JUMP TO 10200
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RUMPt,

F1314,

RJUNPO,

F1315,

KRJVP1w,

F1316é,

RUMP11,

F1317,

RJMP12,

£1318,

RJMPiS,

nzM

LAC
SZA
HALT
L AC
DAC
f"AC
JMP
SKP
[iZM

LAC
SZA

N

J4AA

RJ9
J4aw

19420
10448

J47Ap

J1X

HALT

LAC
NAC
DAC
JMP
SKP
M

I AC
SZA
HALT
LAC
DAC
NAC
JMP
SKP
NzM

LAC
SZA

PJ1v
J1K
117206
117240

J1K
J2K
RJ11
J2K
12040
12040

J2K

J4K

HALT

I AC
UAC
NATC
JMP
SKP
DZM

LaC
SZA
HALT
D#M
LAC
DAC
AG
JMP
SKP
i1ZM

LAC
SZA

RJ12
J4aK
14040
14089

Jak

JieK

J1 2K
P13
J1nK
19740
13740

J13K

JM10K

/CLEAR J2p8 ERROR ANDRESS

/TEST JMP 10400, RJIMP9
/JMP TABLE ERROKR ADDRESS

/ERROR; JUMP 10409 OR RJUMP9 FAILED

/AC=400

/STORFE JMP ADDRESS IN TABLE
/STORE RJUMP [NSTRUCTION
/JMP TO 10400

/CLEAR J4n@ ERROR ADDRESS

/TEST UMP 11430, RJMP 1a,
/JMP TARLF ERROR ADDRESS

/ERROR; JMP 11@04@ OR RJUMP1@ FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJUMP INSTRUCTION
/JMP TO 11000

/CLEAR J1K ERROR ADDRFSS
/TEST JUMP 12488, RJUMP11,
/JMP TABLE FRROR ADDRESS

/ERRGR; JMP 12000 OR RJMP11 FAILED
/STORE UMP ADDRESS IN TABLE
/STORE RJUMP INSTRUCTION
/JUMP TO 12006
/CLEAR J2K ERROR ADDRESS

/JMP TABLE ERROR ADDRESS

/ERROR; JUMP 14809 OR RJUMPy2 FAILED
/STORE JUMP ADDRESS IN TABLE
/STORE RJUMP INSTRUCTION
/JMP T0O 1400n
/CLEAR J4K ERROR ADDRESS

/TEST JMP 1g9a00, RIMP 13,
/JMP TABLE ERROR ADDRESS

¢sERROR: JUMP 108200 OR RJUMP13 FAILED
/CLEAR J1@K TO CONTINUE AFTER ERROR

/STORE JMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION
/JIMP T0 100p9

/CLEAR J10K ERROR ADDRESS

/TEST JMP 7777, RJUMP14, ‘
/JMF TABLE ERROR ADDRESS
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F1319.,

RJUMP14,

£1320,

RJUMP15,

F1321,

RJUMP16,

F1322,

RJMP17,

£F1323,

RJMP18,

HALT

LAC RJ14
DAC JM16K
DAC 7777
JMP 7777
SKP

DM JUM10K

LAC JM4K
SZa

HALT

LAC RJU1S
DAC JM4K
DAC 13777
JMP 13777
SKP

DZM UM4K

LAC JM™MPK

SZA

HALT

LAC kKJ16

DAC JUMZK

NAC 15777
JMP 15777
SKP

DzM JUM2K

LAC JM1K

SZaA

HALT

LAC RJU17

DAC JM1K

DAC 16777
JMP 14777
SKP

NZE¥ JUMIK

LAC JM4g0
SZA

HALT

LAC RJ18

DAC JM4gn

LAC 17377
JMP 17377
SKP

NZM JMaa9

/ERKOR: JUMP 7777 Or RJUMP14 FAILED
/STORE JMP ADDRESS IN TABLE

/STORE RJUMP INSTRUCTION

/IMFE T0 7777

/CLEAR JM1pK ERROR ADDRFSS

/JTEST UMP 13777, RJUMP1S
/JMP TARLE ERROR ADNRESS

/FERROR; JUMP 13777 GR RJMP15 FAILED
/STORE JMP ADNDRESS IN TABLE
/STORE RJUMP INSTRUCTION
/IMP T0O 13777
/CLEAR JM4K ERROR ANDRESS

/TEST JUMP 15777, RJUMP16
/JMP TARLF FRROR ADDRFSS

/ERROR; JUMP 15777 (GR RJUMP16 FAILED
/STORE JUMP ADDRFSS IN TABLE
/STORE RJUMP INSTRUCTION
/JUMP T0 15777
/CLEAR JM2K ERROR ADDRESS

/TEST JUMP 16777, RJUMP17,
/JMP TARLE ERROR ADDRESS

JERKOR: JUMP 16777 OR RJUMP17 FAILED
/STORF JMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION
/JIMP TO 16777
/CLFAR JM1K ERROR ADDRESS

/TEST UMP 17377, RJUMP1E,
/JMP TARLE ERROR ADDRESS

/ERROR: JMP 17377 OR RJUMP18 FAILED
/STORE JMP ADDRFSS IN TABLE
/STORE RJMP INSTRUCTION
/JMP 10 17377

/CLEAR J ERROR ADDRESS
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kx4

Fi1324,

Rt P19y,

F1325,

RJUMP 2@,

£E1326,

RJMP21,

F1327,

RJMP22'

£1328,

RJUMP23,

LAC JUMZu9
SEA

FALT

LAC RJ19
BAC UMZug
nAC 17577
JMP 17577
N

fgM UMoup

LAC JM1ap
SZp

HALT

fEM UMiap
LAC RJ2#
OAC JM1ug
LAC RJ2%
CAC 17677
JMF 17677
NEM UMt a0

LAC JM4y
SZA

HALT

LAC RJ21
DAC JUM4aD
DAC 17737
JMP 17737
SKP

NzM JM4y

LAC JM?2

SZA

HALT

LAC RJ22

NAC JM20

DAC 17757
JMP 17757
SKP

DzZM JM29

LAC JUM10

SZA

HALT

LAC RJ23

DAC JM10

DAC 17767
JMP 17767
SKP

DZM UM14

LAC JM4
SZA

/TEST JMP 17577, RJUMP19,
/JMP TABLF FRROR ADNRESS

/ERROR; JUMP175%77 OR RUMP19 FAILED
/STORE JMP ADDRESS IN TABLE
/STORF RJMP INSTRUCTION
/IMP T0 17577
/CLEAR JUMP2pn ERROR ADDRESS

JTEST JUMP17677, RJUMP 2@,
/JMP TARLE ERROR ADDRESS

JERROR: JUMP 17677 OR RUMP2@ FAILED
/CLFAR JUMigm TO CONTINUE AFTER ERROR

/STORE JUMP ADDRFSS IN TaABLE
/JMP RUMP2p

/STORE RJMP INSTRUCTION

/JMP T0 17677

/CLEAR JUMip@ ERROR ADDRESS

/TEST UMP17737, RJUMP21
/JMP TaAgLE ERROR ADDRESS

JERROR: JMP 17737 OR RJUMP21 FAILED
/STORE JUMP ADDRESS IN TABLE
/STORE RJUMP INSTRUCTION
/JMP TO 17737
/CLEAR JUM4@ ERROR ADDRESS

/TEST JMP 17757, RJUMP22
/JMP TABLF ERROR ADDRESS

/ERROR; JUMP 17757 OR RJUMP22 FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION
/JMP T0 17757

/CLEAR JUM2@ ERROR ADDRESS

/TEST UMP 17767, RJUMP23
/JMP TABLE ERROR ADDRESS

/ERROR; JMP 17767 OR RJMP23 FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION
/JMP 70 17767
/CLEAR JM1@ ERROR ADDRESS

/TEST JUMP 17773, RJMP24,
/JMP TABLE ERROR ADDRESS
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£1329,

RJUMP24,

£1330,

RJIMP25,

£1331,

RJUMP26,

@@

£F1332,

RUMP27,

£1333,

RUMP 28,

HALT

LAC RJ24
DAC JM4a
NDAC 17773
JMP 17773
SKP

DEM JM4

LAC JM2
SZa

HALT

LAC RJ25
DAC JM2
BAC 17775
JMP 17775
SKP

DEM UM?

LAC M1
SZA

HALT

LAC RJ?6
DAC JMi

- DAC 17776

JMP 17776
SKP
DZEM UM1

LAC JMp
SZA

HALT

LAC RJ27
DAC UMD
DAC 17777
JMP 17777
SKP

DZEM JUMa

LAC J12525
SZA

HALT

LAC RJP8
DAC J12525
DAC 12525
JMP 12525
SKFP

DM J12525

LAC J15252
SZA

JERKOR JMP 17773 OR RJMP24 FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJUMP INSTRUCTION
/JMP TQ 17773
/CLEAR JM4 ERROR ADDRESS

/TEST JUMP 17775, RJUMP25
/JIMP TARLE FRROR ADDRESS

/ERKORS JUMP 17775 0OR RJUMP2% FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJUMP INSTRUCTION
/JMP T0 17775
/CLEAR JM? ERROR ADDRFSS

/TEST JUMP 17776, RJUMP26
/JMP TABLF FRROR ADDRFSS

/JERKROR; JMP 17776 OR RJUMP26 FAILED
/STORF JMP ADDRESS IN TABLE
/STORE RJUMP [NSTRUCTION
/JMP TO 17776

/CLEAR JM1 ERROR ADDRESS

/TEST JUMP 17777, RJUMP27
/JMP TABLF ERROR ADDRESS

/ERROR; JUMP 17777 OR RJUMP27 FAILED

/STORF MP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION
/JMP TO 17777

/CLEAR UMg ERROR ADDRESS

/JTEST JUMP 12525, RJUMP28
/JMP TARLE ERROR ADDRESS

JERROR; JMP 12525 OR RJMP28 FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION
/JIMP TO 172525
/CLEAR 12525 ERRCR ADDRESS

/TEST UMP 159252 RJMP29
/JMP TABRLE FRROR ADDRESS
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F1334,

RJIMP2G,

F1335,

RJCO,

£1336,

RJC1,

£1337,

RJC2,

HALT

LAC RJ29
DAC Jibk2%52
DAC 15252
JMP 15252
SKP

DZM J15252

LAC JCe
SZA

HALT

LAC K777
DAC JC#
LAC RJAC
DAC 17777
LAC RJQACX
DAC @

JMP »

SKP

D#M JCH

LAC JC1
SZA

HALT

LAC K1
UAC JC1
LAC RJ1IC
DAC 17776
LAC RJ1CX
DAC 1

JMP 1

SKP

DZEM JC1

LAC JC2
SZA

HALT

LAC K2
DAC JC2
LAC RJ2C
DAC 17775
LAC RJ2CX
DAC 2

JMP 2

SKP

DZM Jc?2

LAC JC4
SZA

/ERROR; JMP 15252 OR RJUMP29 FAILED
/STORE JMP ADDRESS IN TABLE
/STORE RJMP INSTRUCTION
/JMP T0 15252
/CLEAR J15252 ERROR ADDRESS

/TEST JUMP COMPLIMENTS
/JMP TABLE ERROR ADDRFSS

/ERROR; UMP @ TO 17777, TO RJCO®
/STORE FRROR CODE; K777
/STORE JUMP RJC@

/STORE JUMP 17777
/JMP @

/CLEAR JCP ERROR ADDRESS

/TEST JMP COMPLEMENTS
/JMP TARLE ERROR ADDRESS

/ERROR; JUMP 1, T0 17776 T0 RJC1
/STORE ERROR CODE; K1
/STORE JMP RJC1

/STORE JUMP 17776
/JMP 1

/CLEAR JC1 ERROR ADDRESS

/TEST JMP COMPLEMENTS
/JMP TABLE ERROR ADDRESS

/ERROR; JUMP 2, T0 1777% TO RJC?2
/STORE ERROR CODE; K2
/STORE JUMP RJC2

/STORE JUMP 17775
/JMP 2

/CLEAR JC2 ERROR ADDRESS

/TEST JUMP COMPLEMENTS
/JMP TABLE ERROR ADDRESS
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£1338,

RJC3,

£1339,

RJc4,

E1340,

RJCS,

£1341,

RJC6,

HALT

LAC
NAC
LAC
DAC
LAC
DAC
JMP
SKP
DZEM

LAC
SZA

HALT

LAC
DAC
LAC
DAC
LAC
NDAC
JMP
SKP
DZEM

LAC

K4
JC4
RJ3C
17773
RJ3CX
4

4

JCa

JC12

Kie
JC1@
RJ4C
17767
RJ4ACX
10

19

Jc1¢

JCou

SZA

HALT

LAC
DAC
LAC
DAC
LAC
DAC
JMP
SKP
DzM

LAC
SZA

HALT

LAC
DAC
LAC
UAC
LAC
DAC
JMP
SKP
DZM

K2#
JC2y
RJSC
17757
RJSCX
20

20

JC2a

JCay

Kan
Jc4u
RJ6C
17737
RJ6CX
100n40
10040

JC4an

/ERROR; JUMP 4, T0 17773 10 RJC3

/STORE FRKOR CODE; K4
/STORE JMP RJC3

/STORE JUMP 17773
/JIMP 4

/CLEAR JC4 FRROR ADNRFSS

/TEST UMP COMPLEMENTS
/JMP TARLE FRROR ADNRFSS

/ERROR; JUMP 1@, T0 17767 TO RyC4

/STORE FRROR CUDE; Kin
/STORE JUMP RUCH4

/STORF UMP 17767
/UMP 14

/CLEAR JC1@ ERROR ADDRESS

/TEST JUMP COMPLEMENTS
/JMP TARLF FRROR ADDRESS

sERROR: JMP 2@, TO 17757, TO RJCS

/STORF FRROR CODE; K2n
/STORE JUMP RJCS

/STORE UMP 17757
/JMP 21

/CLEAR JC2@ ERROR ADDRESS

/TEST JMP COMPLEMENTS
/JMP TABLF ERROR ADDRESS

/ERROR; JUMP 1¢@4@, T0 17737 TO RJCE

/STORE ERROR CODE; K49
/STORE JMP RUCE

/STORE JUMP 17737
/JIMP 100409

/CLEAR JC4® ERROR AQDDRESS
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e

F134¢,

RJC7,

£1343,

1344,

RJCY,

F£1345,

RJC1@,

LAC
SZA

HALT

LAC
NDAC
LAC
NAC
LAC
DAC
JMP
SKP
D#EM

LAC
SZA

HALT

LAC
DAC
LAC
DAC
LAC
0OAC
JMP
SKP
&M

LAC
SZA

HALT

LAC
DAC
LAC
DAC
LAC
DAC
JMP
SKP
DZM

LAC
SZA
HALT
ILAC
DAC
LAC
DAC
LAC
DAC
JMP
SKP
DZM

LaC
SZA

JC1A0

K1in0o

JCL1na
RJ7C

17677
RJ7CX
1910
18100

JC1v@

JCPu0

K2ad

JC2Ay
RJBC

17577
RJ8CX
10239
192283

JCrng

JCaan

K4ay

JC4nD
RJ9C

17377
RJ9CX
10400
10440

JC4va

JC1K

K1K
JC1K
RJ14C
16777
RJ19CX
11000
110400

JC1K

JC2K

/TEST JUMP COMPLEMENTS
/JMP TABLE FRROR ADDRESS

/ERROR; JMP 12100, T0 17677 T0 RJC7
/STORE ERROR CODE: K1@@
/STORE JUMP RJUC7

/STORE JMP 17677
/JMP 1@100

/CLEAR JC10@ ERROR ADDRESS

/TEST JUMP COMPLEMENTS
/JMP TABLE ERROR ADDRESS

/ERRQOR; JMP 102008, T0 17577, TO RJCS
/STORE ERROR CODE; K200
/STORE JUMP RJCS

/STORE JMP 17577
/JMP 102080

/CLEAR JC2P@ ERROR ADDRESS

/TEST JUMP COMPLEMENTS
/JMP TABLE ERROR ADDRESS

/ERKOR; JMP 1p40@, TO 17377 TO RJC9Y
/STORE ERROR CODE; K4a@
/STORE JMP RJC9

/STORE JMP 17377
/JMP 184020

/CLEAR JC409 ERROR ADDRESS

/TEST JUMP COMPLEMENTS
/JMP TARLE ERROR ADDRESS

/ERROR;: JMP 11908, 70 16777 RJC19
/STORE ERROR CODE; K1K
/STORE JUMP RJUC1@

/STORE UMP 16777
/JMP 11¢r@

/CLEAR JC1K ERROR ANDRESS

/TEST JUMP COMPLEMENTS
/JMP TARLF FERROR ADDRESS
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E1346,

RJC11,

£1347,

rRJC12,

£1348,

RJC13,
START

HALT
LAC
CAC
LAC
DAC
LAC
DAC
JMP
SKP
DZEM

LAC
SZA
HALT
LAC
DAC
LAC
DAC
LAC
DAC
JMP
SKP
D#M

LAC
SZA
HALT
LAC
DAC
LAC
DAC
LAC
DAC
JMP
SKP
DZM

K2K
JCP2K
RJ11C
15777
RJ11CX
12040
12000

JCPK

JC4K

K 4K
JCaK

RJ12C
13777
RJ12CX
14000
14100

JC4K

JC18K

K10K
JC1aK
RJ13C
7777
RJ13CX
19940
10000

JC1aK

/ERROR: JUMP 12g0p, T0 15777, T0 RJC11
/STORE ERROR €ODE; KoK
/STORE JUMP RUC11

/STORE UMP 15777
/JIMP 12000

/CLEAR JC2K ERROR ADDRESS

/TEST JUMP COMPLEMENTS
/JMP TARLE FRROR ADNRFSS

/ERROR; JMP 14p@@, T0 13777, 70 RJC12
/STORE FRROR CODE; K4K
/STORE JMP RJC 12

/STORE JUMP 13777
/JIMP 14000

/CLEAR JC4K ERROR ADDRESS

/TEST JUMP COMPLEMENTS
/JMP TARLE FRROR ADDRESS

/ERROR; UMP 14@0@0, TO 7777, TO RJC13
/STORE ERROR CODE; K1k
/STORE UMP RJUC13

/STORE JUMP 7777
/JMP 10009

/CLEAR J1AK ERROR ADDRESS
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/PDP-9

£1349,

RJC14,

F1350,

RJC15,

£1351,

RJC16,

£1352,

INST,

TEST,

LAC
SZA
HALT
LAC
DAC
LAC
DAC
LAC
DAC
JMP
SKP
DZM

LAC
SZA
HALT
LAC
DAC
LAC
NAC
LAC
DAC
JMP
SKP
NZM

LAC
SZA
HALT
LAC
NAC
LAC
DAC
LAC
DAC
JMP
SKP

NZM

LAC
SZA
HALT
LAC
DAC
LAC
DAC
LAC
DAC
JMP
SKP

TAPE 14

JCMY

K777K
JCM®
kRJyt4c
A
RJ14CX
17777
17777

JCMA

JCM1

M1
JCM1
RJ15C
1
RJ15CX
17776
17776

JCM1

JCM2

M2
JCM2
RJ16C
2
RJ16CX
17775
17775

JCM2

JCM4

M4
JCM4
RJ17C
4
RJ17CX
17773
17773

/TEST JMP COMPLIMENTS
/JMP TABLE FRROR AODRESS

/ERROR; JUMP 17777, 10 @, TO RJC14
/STORE ERROR CODE; K777K
/STORE JUMP RJ14C

/STORE JUMP @
/IMP 17777

/CLEAR JCM@ ERROR ADDRESS

/TEST JUMP COMPLEMENTS
/JMP TABLE ERROR ADDRFSS -
/ERKROR; JUMP 17776 TO0 1, TO RJC15
/STORE ERROR CODE; M1
/STORE JMP RJC15

/STORE JMP 1
/IMP 17776

/CLEAR JCM1 ERROR ADDRESS
/TEST JUMP COMPLEMENTS
/JMP TARLE ERROR ADDRESS |

/ERKOR: JUMP 17775, T0 2, TO RJC16

/STORE ERROR CODE; M2
/STORE JUMP RJUC16

/STORE JMP 2
/JMP 17775

/CLEAR JCM2 ERROR ADODRESS |
/TEST JUMP COMPLEMENTS |
/JMP TARLF FRROR ADDRESS |
/ERROR; JMP 17773, TO 4, TO RJUC17 ‘
/STORE ERROR CODE; M4 |
/STORE JUMP RJC17

/STORE JMP 4
/JIMP 17773
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RJC17,

£1353,

RJC18,

E1354,

RJC19,

£1355,

RJC2@,

£1356,

DEM JCM4

LAC JCM1ip
SZA

HALT

LAC M1@
DAC JCM1@
LAC RyJ18C
DAC 1@
LAC RJ18CX
DAC 17767
JMP 17767
SKP

DEM JcM1ig

LAC JCM2@
SZA

HALTY

LAC M2n
DAC JCM2a
LAC RJ19C
DAC 20
LAC RJ19CX
DAC 17757
JMP 17757
SKP

D#M JCM20

LAC JCM4op
SZA

HALT

LAC M40
DAC JCM4ap
LAC RJ?28AC
DAC 19040
LAC RJ28CX
GAC 17737
JMP 17737
SKP

DZM JCM40

LAC Jcving
SEa

HALT

LAC M104
DAC JCM1i@0
LAC RJ21C
DAC 1p14@
LAC RJ21CX
DAC 17677
JMP 17677
SKP

/CLEAR JCM4 ERROR ADDRESS
/TEST JUMP COMPLEMENTS
/JMP TABLE ERROR ADDRESS
/ERKOR; JUMP 17767, T0 1@, TO RJC1S
/STORE FRROR CONE; M1ig¢
/STORE JMP RJC18
/STORF JMP 1n
/IMP 17767

/CLEAR JCMip» ERROR ADDRESS
/TEST JUMP COMPLEMENTS

/JMP TARLE ERROR ADDRESS
/FRROR: JMP 17757, T0 28, T0 RJC19

/STORE FRROR CONDE; M2p
/STORE UMP RJC19

/STORE JMP 2

/JIMP 17757

/CLEAR JCM2¢ ERROR ADDRFSS
/TEST JUMP COMPLEMENTS

/JMP TARLE ERROR ADDRESS
/ERRQR; UMP 17737, T0 1448, 70 RJC?0

/STORE FRROR CODE: M4n

/STORE JMP RJC2a

/STORE JMP 1004¢

/FIMP 17737

/CLEAR JCM4@ ERROR ADDRFSS
/TEST JMP COMPLEMENTS
/JMP TARLE ERROR ADDRESS
/ERRQR; JMP 17677, 70 12100, T0 RJC21
/STORE FRROR CODE; M1a0
/STORE JMP RJC21

/STORFE JUMP 1@1ge
/IMP 17677
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RJcet,

F1357,

RJce2,

£1358,

RJC23,

F1359,

RJC24,

F136¢,

RJC?25,

NEM JoM19g

LAC J™M2ae
SZA

HAL |

LAC M09
NDAC JCM24a
LAC RJ?22C
DAC 19200
LAC RJ22CX
DAC 17577
JMP 17577
SKP

DZM Jcm200

LAC JCM4pp
SZa

HALT

LAC M40n
DAC JCM4p0
LAC RJ23C
DAC 10400
LAC RJ23CX
DAC- 17377
JMP 17377
SKFP

DZM JCcMapg

LAC JCM1K
SZA

HALT

LAC MiK
DAC JCM1K
LAC RJ24C
DAC 11000
LAC RJ24CX
DAC 16777
JMP 16777
SKP

UZEM  JCM1K

LAC JCMZK
SZA

HALT

LAC M2k
DAC JCM2K
LAC RJ25C
DAC 12009
LAC PJ25CX
GAC 15777
JMP 15777
SKP

DZEM JCcM2K

LAC JCM4gK
SZA

/CLEAR JCM1A8 ERROR ADDRESS
/TEST JUMP COMPLIMENTS
/JMP TARLE FRROR ADDRESS
/ERRORG JUMP 17577, TO 1@2@@, TO RJC22
/STORE FRROR CODE; M20¢@
/STORE JMP RJC2?2
/STORE JUMP 14200
/JIMP 17577

/CLEAR JCM2M@ ERROR ADDRESS
/TEST JUMP COMPLEMENT
/JMP TARLE ERROR ADDRESS
/ERROR; UMP 17377, T0 184040, TO RJC23
/STORE FRROR CODE; M4pp
/STORE JUMP RJC23
/STORE JUMP 1g4ae
/JMP 17377

/CLEAR JCM4@@ ERROR ADDRESS
/TEST UMP COMPLEMENTS .
/JMP TABLE FRROR ADDRESS
/ERROR; JMP 16777, TO 11g@@, TO RJC24
/STORE FRROR CODE; M1K
/STORE JMP RJC24

/STORE JUMP 11000
/IMP 16777

: /CLEAR JCM1K ERROR ADDRFSS
/TEST JUMP COMPLEMENTS
/JMP TARLE ERROR ADDRESS
/ERRQOR; UMP 15777, T0 12@8@@, TO RJC?25
/STORE ERROR CODE; M2K
/STORE JMP RJC25
/STORE JUMP 1200@
/JMP 15777

/CLEAR JCM2K ERROR ADDRESS

/TEST JMP COMPLEMENTS .
/JMP TABLE ERROR ADDRESS
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£1361,

RJC26,

F1362,

RJC27,

£1363,

RCALSY,

F1364,

RCALSYH,

F1366,

HALT /FREQR: JUMP 13777, TO 14pae, 10 RJIC26
LAC M4k :
DAC JCM4K /STORE FRROR CONE; M4K

LAC RJ26C

DAC 14049 /STORE UMP RUC26

LAC RJ26CX

DAC 13777 /STORE UMP 14000

JMP 13777 /JIMP 13777

SKP

NZM JCM4K /CLEAR JCM4K ERROR ADDRFSS
/TEST UMP COMPLEMENTS

LAC JCM1@aK /UMP TARLE ERROR ADNDRFESS

SZA

HALT /ERROR; JUMP 7777, 10 1¢6ea, TO RJC27

LAC M12K

UDAC JCM19K /STORE FRROR CODE; MigK

LAC RJ27C

NDAC 100G /STORE JUMP RJC27

LAC RJ27CX

DAC 7777 /STORE JUMP 10pyv%

JMP 7777 /IMP 7777

SKP

f1ZM oMl pK /CLEAR JCM 14Kk ERKOR ADDRESS
/TEST CAL, EXT=0, L=¢

LAC TAL®Z /CAL TARLF FRROR ADDRESS

CEA

HALT /ERRQOR; CAL FROM 17757

LEM JEXT=¢

CLA!CLL /L=¢

LAW 1rrr2g@ /AR=7700:24

NZM 17757 /STORE CAL AT 17757

LAC ~zn21

DAC ©alg /STORF FRROK CODE o721

LAC RCALD

DAC 21 /RIMP FROM AL

JMP 17757

DzM ALY /CLEAR FRROF TARLF

LAC 2 /RIMP ANDRESS

SAN KCAL® /17760

SKF

HALT /ERKOR; (2@) MUT 17760
/TEST CAL, L=1

LAC ALl

SEA

HALT /FRROR; CAL FROM 17757

CLL'ML /=1

LAC K2129

DAC CAL1 /CAL ERrROF CODE 212

LAC =Cal1

ODAC 21 /RIMP FROM CAlL

JMP 17757

DV CAl L /COLFAR ERROI TARLF

LAC 72¢ /RJIMP ANDRESS Al L=1

SAN K{ALE /417780

SKE

HALT /JERROK; (2) NOY 417760
/TEST UMS COMPLEMENTS | =2

LAC JSMp /JMS TARLE FRROR ADNDRFSS

SZ»s
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F132A7,

RIS,

Fixé6t,

RJMST,

E1272,

F1371.,

~JrS2,

F1272,

EALT

rLL

I AC KJSMy
BFAC 17776
LAC RSy
raG @

FAGC JSHMY
LAW 17776
JMFE ¢

DEM JSMy
LAC 17775
SAD K1
SKP

HALT

LAC JSM1
SEA

HALT

LEM

ret

LAC PJgM1
HAC 17775
LAC RSMi
nac 1

DAC JSMq
LAW 17775
JMP 1

NEM JSM1
LAC 17774
SAN K2
SKP

HALT

L A JSuy
S#p

FALT

cLL

LAGC PJSiHp
tAC 17774
LAC KSMp
DAC 2

NAGC JSM2
LAwW 17774
JMP 2

P#s JSMP
| AC 17773
SAD K3
SKP

HaLT

L AC .ISM4
SEA

JERROR; JUMS FROM ¢ TO 17775
/L=f
/JMP RJMSQ
/RIMP FROM UMS NESTINATION 17776
/JMS 17775
/JMS UNNDER TEST
/STORF JMS ADDRESS IN TABLE
/AR=777776
/ENTER TEST
/CLEAR FRROR TABLE
/RETURN ADDRESS

/EREQR; (1777%) NOT 200061
/TEST UMS COYPLEMENTS, L=p
/JMS TARLE FRROR ADNRESS

/FKRROR; JMS FROM 1 TO 17774

/L=6
/ IMP RUMg1

/RETURN FROM JUMS DESTINATION

/JIMS 17774

/JMS UNNER TEST

/STORE JMS ADDRESS IN TaABLE
/AR=17775

/ENTER TEST

/CLEAR FRROR TaABLE
/RJMP ADDRESS TFST

/FRROR; (17774) NOT 2
/TEST UMS COAPLEMENTS, L=g. EXT=g
/JMS TarLE FRROR ANRNRFSS

JFRROR; UMS FROM 2 T0O 17773
/L=t
/ JMP RUMS

/RETURN FROM JUMS DESTINATION

/IMS 17773

/JMS UNDER TEST

/STORE JMS ADDRESS IN TABLE
/AR=777774

/ENTER TEST

/CLFAR ERROR TABLE
/RJIMP ADNRESS TEST

/EREOR; (17773) NOT 3
/TEST UMS COMPLEMENTS, =@, EXT=@
/JMS TARLFE FRROW ANDRESS
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F1373,

RJMS3Z,

£1374,

F1375,

RJMS4,

£1376,

£1377,

RJMSS,

£1378,

HALT

cLt

LAC PJUSHM3
DAC 17772
LAC RSM3
GAC 4

NDAC JSM4
LAW 17772
JMP 4

NE&M JSM4
LAC 17771
SAD K5
SKP

HALT

LLAC JSM1in
S2A

HALT

cLL

LAC FJSM4
NAC 17766
LAC RSM4
HAC 12
DAC JS™M10
LAW 17766

“JMP 1@

DEM JSMyp
LAC 17765
SAD K11
SKP

HALT

LAC JSM2e
SZA

HALT

cLL

LAC R JSHS
DAC 177%6
LAC RSms
NDAC 20
IAC JSM2¢
LAW 17756
JMP 2n

NZM JSM20
LAC 17755
SAD %21
SKP

HALT

LAC JSM4p
SZ4A

£

/ERKORS JUMS FROM 4 T 17771
/L=¢
/JMP RJUMS3
/RETURN FROM JMS NESTINATION
/dMS 17771
/JMS UWNDPER TEST
/STURE JMS ADDRFSS IN TABLE
/CR=777772
/ENTER TEST

/CLEFAR ERROK TABLF
/RJME ABGDRESS TFST

/JERROR; (17771) NOT 5
/TEST UMS COMPLEMENTS, L=@, EXT=a
/JMS TABLF FRROR ADDRESS

/ERKQOR; UMS FROM 10 TO 17765
/L=¢
/ UMP RJUMS4
/RETURN FROM JUMS DESTINATION
/JIMS 17765
/JMS UNNER TEST
/STORF JUMS ADDRFSS IN TABLE
/AR=T77776~
/ENTEPRP TEST
/CLEAR FRROR TARLE
/RJIMP ADDRESS TEST

/ERROR; (17765) NOT 11
/TEST JUMS COMPLEMENTS, L=a, EXT=z=0
/JIMS TAKLE FRROR ADDRKRESS

/ERRQR: JMS FROM 2¢ TO 17755
/L=p
/ JMP RUMSSH
/RETURN FROM JMS DESTINATION
/JMS 17755
/JMS UNNDER TEST
/STORFE J¥S ADDRFSS IN TARLE
/AR=77775%6
/JENTER TEST

/CLEAR ERROR TARLE
/RJUMP ADDRESS TEST

/ERROR: (17755) NNT 21
/TEST JMS COUMPLEMENTS, L=#, EXT=¢
/JIMS TAKLE FRROR ADNRFSS



F1379,

RJIMS6,

F1381,

RJMS7:

F1382,

F1383,

RJMSH,

E1384,

HALT

cLL

L AC kJSMe
H.C 17736
LA RSMp

DAC 19040
NAC JSMaw
LAW 17736
JMP 19140

N#M JSMay

LAC 17735

SAD k11341
SKP

HALT

LAC JSM17@
SEA

HALT

cLL

LAC FJSM7
HAC 17676
LAC PSM7
DAC 1412
UAC JSMipn
LAW 17676
JMP 101040

nZM JSmiea
LAC 17675

SAD Ki1¢161
SKP

HALT

LAC JSM20ap
SZa

HALT

cLL

LAC RJSMS8
DAC 17576
LAC KSMA8
AC 193240
DAC JSM200
LAW 17576
JMP 1p20a
DZM JSM2¢0
LAC 17575
SAD Ki@2e1
SKP

HALT

LAC JSM4r9
SZA

/ERROR: JMS FROM 10040 TO 17735
/L=
/. UMP R JMS6
/RETURN FROM JUMS DESTINATION
/JMS 17735
/JMS UNDER TEST
/STORE JUMS ADDRESS IN TABLE
/AR=777736
/ENTER TEST

/CLEAR ERROR TARLE
/RJIMP ADDRESS TEST

/ERROR; (17735) NOT 10041
/TEST JUMS COMPLEMENTS L=8, EXT=g
/JMS TABLE ERROR ADDRESS

/ERROR; JUMS FROM 1(108 T0 17675
/L=p
/JMP RUMS7
/RETURN FROM JUMS DESTINATION
/UMS 17675 ‘
/JMS UNDER TEST
/STORE JMS ADDRESS IN TABLE

/AR=777676
/JENTER TEST

/CLEAR ERROR TABLE
/RJMP ADDRESS TEST

/ERROR; (17675) NOT 10101
/TEST JUMS COMPLEMENTS, L=g, EXT=g
/JMS TABLE FRROR ADDRFSS

sFREORS JMS FROM 10280 T0 17575
/L=¢

/JIMP RJMSS

/RETURN FROM JMS DESTINATION
/JMS 17575

/JMS UNDER TEST
/STNRF JMS ADDRESS IN TARLE

/AR=777576

/ENTER TEST
/CLEAR FRROR TABLE

/RJMP ADDRESS TFST

/ERROR; (17575) NOT 17201
/TEST JUMS COMPLEMENTS, L=g, EXT=@
/JMS TARLE ERROkK ADDRESS
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F1385,

KJMS9,

E1366,

F1387,

RJMS13,

£1388,

£1389,

RJUMS11,

F1390,

F1291,

HALT

CLL

LAC R JSHM9
NAC 17376
LAC HSMy
DAC 194ve
DAC ISM4v9
LAW 17376
AMF 1a4a0

NEM SSHMA6GY
LAC 17375

SAD kimreny
SKP

HALT

LAC JUSM1K
SZA

HALT

cLL

LAC RJSM1@
NAC 18776
LAC &Smi¥
NAC 11v40
DAC JSM1FK
LAW 1A776
JMP 1100

N#EM ISM1K
LAC 16775
SAND ¥114p1
SKP
HALT

LAC SM2K
SZA

HALT

cLL

LAC = JSM11
DAC 15776
LAC Sm1g
LAC 1219p
HAC (ISMPK
LAW 15776
JMP 12000

NZM ISM2K
LAC 15775
SAN K12uel
SKP
HALT

LAC 35-4K
SZA

HALT

rLL

LAC =.SA412
DAC 12776

LAC =SM1?

DAC 145090

NAC JSH4aK

/TEST

/TEST

/ERREOR; JUMS FROM 1v4ga T0 17375
/L=¢
/JMP RJMS 9
/RETURN FROM JMS DESTINATION
/IUMS 17375
/ JMS UNDFK TEST
/STORE JMS ADNKFSS IN TABLE
/AR=777376
C/FNTER TEST

/CLEAR FRROR TawLF
/RIMP ADURFSS TEST

ZERROR; (1737%) NOT 1¢401
JMS COMPLEMENTS, L=a, EXT=0
/JIMS TARLE ERROR ADDRFESS

/ERRQR; UMS FROM 11000 T0 16775

/L=t

/IMP K gMS10
/RETUKRN FROM JUMS DESTINATION
/ IMS 16775
/JMS UNPER TEST
/STORE JmS ADDRESS IN TABLE
/AR=776776
/ENTER TEST

/CLEAR ERROR TpglfE
/RUMP ANDRESS TEST

JEREORS (16775) NOT 116@1
JMS COMPLEMENTS, L=¢, EXT=a
/JMS TARLE FRROR ADDRESS

/ERFEOR: JMS FROM 1208 TO 15775

/l=¢

/MNP RUMST11
/RETURN FROM JUMS DESTINATION
/UMS 18775
/JMS UNMNDEw TEST
/STORE ivS ANDDRESS IN TARBLE
/AR=7T7877A
JENTER TFSOT

/OLFAR FRRNR TARLF
/R JMP ATIRESS TEST

JERFORS (15775) NOT 12001

/TEST gMS COMPLEVENTS, L=@2, FXT=p
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/JUMS TAYLE ERROR ADDKFSS
JERPOR; UMS FEOM 14400 TO 13775
/1=
/JMP 1 ymMS 12
/RETURN FROM UMS DESTINATION
/UMS 13775
/JMS UNDER TEST
/STORE JMS ANDNDRFSS IN TABLE



RJrKrS12,

ﬁ
e
I
<
N
-

RJvS13,

£1394,

START

LAk
JMF

{1 M
| AG
SAD
SKP

HALT

LAC
SEh

HALT

rLbL
LAC
NAC
LAC
DAC
nac
LAW
JMP

nZm
LAC
SAD
SKP
HALT

1377+
14024

JSM4K
13775
“14401

JSM1 UK

HJSM13
17776
RSM13
1paaR
JSM1 0K
7776

10042

JSM1AK
17775
Ki1¢eAR1

/AR=773776
/ENTER TEST

/CLEAR FRROR TABLE
/RIMP ANDRESS TEST

/ERROR; (13775) NOT 14001

/TEST JMS COMPLIMENTS, L=g, EXT=@
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/JMS TARLE FRROR ADDRESS

/ERROR;: JUMS FROM 1¢#p@@® T0 17775
/L=¢
/ JMP RUMS13
/RETURN FROM JUMS DESTINATION
/JIMS 17775
/JMS UNDER TEST
/STORE JUMS ADDRESS IN TABLE
/AC=767776
/ENTER TEST

/cLEAR pRROR TaglLr
/RJMP ADDRESS TEST

/ERROR; (17775) NOT 1@@41
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/PDP-9 INSTRUCTION TFST PART 11 - TAPE 15

F1395,

~RUMS14,

RJMS15,

F1398,

£1399,

JS1,
E1490,
Js2,
F1461,
JS3a,
F14e2,

JS4,
F14p3,

/TEST JMS COMPLEMENTS =1

LAC Js»5? /UMS TABLF FRROR ADDRESS
SZA
HALT /ERKOFR; UMS FROM 125285 Tn 15252
CLL P OML /b =1
ILAC wJSMP2s /JIMP RUMS14
NAC 15253 /RETURN FROM JMS DESTINATION
LAG KSHMRS /JMS 15252
NAC 12825 /JMS UNDER TFEST
GAC USys? /STORFE JMS ADDRFSS IN TABLE
LAW 15253 /AC=77%0%3
JMP 12525 /FNTER TEST
PEM JSpsp /CLEFAR FKROR TARLE
LAC 15257 /RJMP ANDNRESS TFST
SAD K4p6 /412526
SKP
HALT /FRROK (185252) NOT 412526
/ AND L=1
/TEST UMS COMPLEMENTS L=
LAC JSmys /JMS TaRLE FRROR ADDRESS
SZaA
HALT /FREOR; JMS FROM 15252 T0 12525
cLL Y rML /L=1
LAC RSM52 /JMF RJMS15
NAC 12%26 /RETURN FROM JMS DESTINATION
LAC ~SMG2 /JMS 12525
DAC 15252 /JMS UNDER TEST
DAC JS525 /STORE JUMS ADDRFSS IN TABLE
LAW 12523 /AC=772523
JMP 15252 /FENTER TEST
NZEM JSE25 /CLEAR ERROR TARLE
LAC 12825 /RJIMP ANDKRESS TFST
SAD ¥415% /415253
SKP
HALT /FRROF; (12525) NOT 415253
/  AND L=1
/TEST UMS SERIFS
LAC JSSS /JUMS TASLF ERROK ADNRESS
SZA
HALT JERRORS UMS SFRIES FAILED
CLL !N /1.=1
JMS |+
HMALT /FRKOR; JIFS SFRIES
JMS L+
HAL T /FRROR; JUMS SFRIES
JME L+
HALT /VREOR; NS SERITES
LE /L ELVE FXT MODE
CLL /L=E
JMS L +1
HALT /EREQOR: JUMS SFRIES
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X

RJiSS,

F1404,

F1405,

F1406,

£1407,

F14n8,

F1409,

F1a1v,

F1411,

F1412,

1413,

112M JSSy

LAC nJS:

TAD 4wk
(CHMA

TAN JS1+1
(1A

SEA

HALT

LLAC KJS?

TAD K46uK
CMA

TAD JS2+1
CMA

SEA

HALT

LLAC KJS3

TAD K4pzK
CMA

TAD JS3+1
CMA

SZA

HALT

LLAC K JS4

CMA

TAD JS4+1
CMA

SEA

HALT

CLA'CMAICLLICML
XCT ,+1

NOP

SNL

HALT

CMA

SZA

=ALT

CLatcLL
XCT . +1
NOP

SEL
FALT
SEa
HALT

XCT XSKP
HALT
CLatCMA
XCT Kol &
SARA

ALT

I
XC1 K7S
CAa
SZA

/CLFAR ERROR TARLE
/TEST JS1, L=1

/ERRQR; JUMS RJUMP DATA JS1+1
/TEST Js2, L=1

/ZERROR; JMS RJUMP DATA JS2+1
/TEST JS3, L=1

/ERROR; JMS RJUMP DATA JS3+1
/TEST JS4, EXT=@, L=0

/ERROR; JUMS RUMP DATA JS4+1
/TEST FXFCUTE NOP; AC=ONES L=t
/AC=0NFS, L=n

/NQOP

/ERKOR; XCT NOP; LINK WAS RESET

/ERKOR; XCT NOP; AC NOT ONES
/TEST FXFCUTE NOP, AC=0 L=@

/AC=8, L=p

/N0OP

/ERPOR; XCT NOP;: LINK WAS SET

/ERROR; XCT NOP; AC NOT @
/TEST XCT SKp

/SKP

/ERROR; XoT SKP FaAlLEND

/AC=0NES

/LA

JFRKOR; XCT CLA FAILED
/TEST XCT LAW

/AC=0Q

/LAW 17777

/AC=0p
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F1414, HALT /ERFOR: XCT LAW FATLED
: /TEST XCT 1S4

CLA!CMA /AC=0NES
DAC 17777 /17777777777
XCT XCTISZ ’ /182 17777
F1415, HALT /ERPOR; XCT 1SZ FAILED T0 SKIP
/TEST XCT TAD
CLL!ICML /=1
LAW 17777 /AC=0NES
GAC 17777 /37777=777777
XCT YCTTAD - /TAD K1
SZA : _
F1416, HALT JERRQOR; XCT TAD FAILED, AC NOT @
SEL
£1417, HALT /JERREOR: XCT TAD FAILED LINK

/NOT SFT 10 »
/TEST XCT RAL, AC=0ONES, L=1

CLA'CMAICLL!CML /AC=zONES, L=1
"XCT XCTRAL ' /RAL
CMA /AC=B
SZa
£1418, HALT JERROR; XCT RAL FAILED AC DROPPED A BIT
SHNL ! LL :
£1419, HALT /ERROR; XCTRAL FAILFD LINK DROPPED
/TEST XCT DAC
LAC %3S /AC=333333
XCT XCTDAC /DAC 17777
TAD K4S /AC=777777
CMA _ /AC=8
SZ . ' .
E1420, HALT , /ERROR; XCT DAC FAILED, K3S

/NOT STORED AT 17777
/TEST XCT=-JMS: FROM 0O XCT(17777)

LAC XCT4 /ERROR TABLF ADDRFESS
SZA i
E1421, HALT /ERROR; XCT(17777) FROM @
LAC XCTuS
PAC XCT9 /XCT (17777)
LA »
LAC YCTRU
DAC 17777 /IMS @
LAC XCTOAR
DAC 1 /RJMP RXCT@
JME /FNTER . TEST
RXCTe, D&M XCTA /CLEAR FRROR TARLE
LAC /RJIMP ANDDRESS
Sap K1
SKP
E1427, HALT /FRROKR; RJMP ADIIRESS NOT 1
JTEST »CT-JMSs FP0M 1 xCT(17776)
Lar x0Tq /VRROR TARLFE ADNKESS
Sth



®

F1424,

R¥XCT1,

F1424,

£142%,

F1426,

1427,

RXCT3,

FiLa2y,

F1429,

HALT

LAGC «0T1S
CAC XCT1
rec 1

LAC xCTr1
NaC 17774
LAGC XCT1R
PPAC 7

JMP 1

O#NM XCT1
LAC 1

SAD K2
SKP

HALT

LAC XCT2
SZA
HALT

LAC XCT2S
NAC XCT72
[:AC 7

LAC XCTk?
DAC 17775
LAC XCT2R
AC 3

JuE 2

NEM XCT12
LAC 2

SAD K3
SKP

HALT

LAC XcTa
SAA

FALT

LA XCTaS
DAC XCT4
i:AC 4

LAC XCTRA4
AC 17773
LAC XCT3R
NAC &

JMp 4

[:#M XCT4
I_LAC 4

SAMY K5
SKP

HALT

LAC X0T1a
SAA

FALT

L AGC ACT14S
AC XCT1d
I-AC 1A

LAC XCTik10@
IFAC 17767
L AC XCT4F
[+AC 11

/TEST XCT; JMS;

/TEST XCT-~JUMS;

/TEST XCT=-JMS;

/ERROR; XCT (17776) FROM 1

/XCT (17776)

/JMS 1

/RJIMP RXCT1

/JENTER TEST

/CLEAR FRROR TABLE
/RJMP ANDRESS

/ERRQOR; RJUMP ADDRESS NOT 2
FROM 2 XCT(17775)

/ERROR TABLE ADDRESS

/ERRQOR: XCT(17775) FROM 2

/XCT(17775%)

/JMS 2

/RJUMP RXCTe2

/ENTER TEST

/CLEAR ERROR TABLE
/RJMP ANDRESS

/EKROR; RJMP ADDRESS NOT 3
FROM 4 XCT (17773)

/ERKOR TABLE ADDRESS

/JERKEOR; XCT (17773) FROM 4

/XCT (17773

/JMS 4
/RIJMP RXCT3
/ENTER TEST

/CLEAR ERROR TABLE
/RJIMP ANDRESS

/FRROR; RJMP ADDRESS NOT 5

/ERRQOR; X0T(17767) FROM 1n

/XCT (17767)

/JMS 1@

/RJMP RXCTA4
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FROM 1@ XCT (17767)
/ERROR TARLE ADDRESS




rxcr4,

E1430,

E1431,

RXCTS5,
£1432,

£1433,

RXCT6,
£1434,

£1435,

RXCT7,

£E1436,

JMP 1041
NEZm xc1id
LAC 10
SAD K11
SKP

HALT

LAC xC729
SZA

FALT

LAC XCT72aS
NAC XCT24%
DAC 22

LAC XCir20
GAC 17757
LAC XCTSPR
DAC 21

JMP 28

DEM xCcT127
LAC 2@

SAD K21
SKP

HALT

LAC XCT4¢

SEA

HALT

LAC XCT48S
DAC XCT40

DAC 10040

LAC XCTR4@
NAC 17737

LAC XCT6R

DAC 14441

JMP 12240

DEM xCT40

LAC 10740@

SALN x1rg4d
SKF

HALT

LAC XCT1C

SZA

HALT

LAC YCT1CS
NAC XcT1c

NAC 14149

LAC XCTR1C
DAC 17677

LAC *CT7R

NAC 1n3nd

JMF 172146

{ZM ¥0T71C

LAC ~ 7147

SADL #1v1ml
SKP

HALT

/ENTER TEST
/CLEAR EKROR TARLE
/RJUMP  ANDRESS

/ERROR; RJUMP ADDRFSS NOT 11

/TEST XCT=-JMS; FROM 29 X0T(17757)
/ERROK TAWRLE ADNRESS

/ERPOR; XCT(17757) FROM 2@

/XCT (177%7)

/IMS 20

/RJMP RXCTS
/FENTER TEST

/CLEAF ERROR TABLE
/RJIMP ANDRESS

/ERROR; RJMP AQBDRESS NOT 21
/TEST XCT=JUMS; FROM 1¢n49 XCT (17737)
/FERROR TABLE ADDRESS
/ERROR: XCT (17737) FROM 18049

/XCT (17737)

/JMS 13040

/RJMP RXCT6

/ENTER TEST

/CLEAR ERROR TARLF
/RJIMP ANDRESS

/ERPOR; RJUMP ADDRESS NOT 1@@41
/TEST XCT-JMS; FROM 191¢a XCT (17677)

/FERROR TARBRLE ADDRESS

/FERROR: XCT (17677) FROM 10180

/XCT (17677)

/IUMS 1R1ee

/RIMP RXCT7

/FNTFER TFST .
/ULFAKR FakOR TARLF
/RJMP AD[RESS

/JERKFOR; RJUMP ANDNRESS NOT 160101



1437,

RXCTH,

F1438,

F1439,

RXCT9,

F1440n,

Fi1c41,

I &
ST

L AC
A
1AL
L AC
AC
| AC
AL
imP
AM
I AC
SAD
SKP

HALT

LaC
SEA

HALT

LAC
nac
AC
| AC

DAL

LLAC
NAC
JMP
NZM
LAC
SAD
SKP

HALT

L AC
SEp

HALT

I AC
tAC
HAC
L AC
[iIAC
LAC
1iAC
JMP

T

xXCT28

XCT20S
XCT240
13242
XCT~2C
17477
YCTAR
142 411
1A24Q
xcT2C
142490
K201

xglac

XCT4(0S
XCT4¢
1A494%
xXCTr4C
17377
XCTOR
104wl
12400
XCT4cC
1340
K10n4ni

XCT1K

¥CT1KS
X0T1K
11940
XCTR1K
16777
XCT1¥R
11051
11%u0

/TEST XCT=JMS; FROM 132¢vA XCT(175%77)

JTEST XCT-JMS; FROM 1040@ XCT (17377)

/ERRUR TABLE ADDRESS
JERRORS XCT (17577) FROM 102090

/XCT (17577

/JMS 10209
/RJMP RXCTS8
/FNTER TFST
/CLEAKR ERROR TARLE
/RJMP ADDRESS
/ERROR; RJMP ADDRESS NOT 1p281
/ERROR TABLE ADDRESS
JERKOR; XCT(17377) FROM 10400

/XCT (17377)

/JMS 18400

/RJMP RXCT9
JENTER TEST

/CLEAR ERROR TABLE
/RJMP ANDRESS

/ERROR; RJUMP ADDRESS NOT 18481

/TEST XCT-JUMS; FROM 11Q008 XCT(16777)
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/ERROK TABLE ADDRESS
/JEREQR; XCT(16777) FROM 110048

/XCT (16777)

/JMS 11008

/RJMP RXCT10
/JENTER TEST

|
|
]
|
3
i
:
|
4




RXCT1a,

F1442,

£1443,

RXCT11,

F1444,

F1445,

RX(CT12,

F1447,

NZM XCT1K

LAC 11349
SAN K11301
SKP
HALT

LAC »CT2K

SZA

HALT

LAC XCT2xS
A ¥CT2kK

NAC 12020

LAC XCTR2K
OHAC 15777

LAC XCT11R
DAC 121461

JMP 12000

DM xCT2K

LAC 12040

SAD kK124m1
SKP

HALT

LAC ¥XCT4K
S

CHALT

LAC XGT4KS
DAC XCT4K

NAC 14920

LAC XCTRA4K
DAC 13777

LAC ¥CT12R
DAC 14001

JMP 14090

DEM XCT4K

LAC 14%u0

SAN ¥14u61
SKP

MALT

LAC XCT1eK
SZp

HALT

LAC XCT1XS
CAC XCT19K
CAC 1uran
LAC XCTR1X
DAC 7777
LAC XCT13R

/CLEAR ERROR TARLE
/RJMP ADDRESS

/FREQR; RJUMP ADDRFSS MOT 1141
/TEST XCT=Jus; FROM 12098 XCT(15777)
/ERRUK TARLF ADDRESS

/FRROKS XCT(15777) FROM 12¢00

/XCT(15777)

/JIMS 12240
/RJMP RXCT11
/ENTEKR TEST

/CLEAR ERROR TARLE
/RJIMP ANDRESS

/ERROR: RUMP ADDRESS NOT 127@1
/TEST XCT-UMS; FROM 1400¢ XCT(13777)
/ERROR TABLE ADDRESS

/ERROR: XCT(13777) FROM 14009

/XCTC13777)

/IMS 14un0
/RUMP RXCT12
JENTER TEST

/CLEAK FRROR TARLE
/RJMP ANDRESS

/EREOR; RJUMF ADDRESS NOT 14001
/TEST XCT=-JMS; FROM 1ac¢ag XCT (7777)

/FRKOR TARBLE ADDRFESS

/ERKOR: XCT (7777) FROM 1v0ag

/XCT (7777)

/ UMS 10430
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RXCT13,

Fl44s8,

£1449,

RXCT14,

£1450,

£1451,
E1452,

START

NAf
JMP
[1#M
t AC
SAD
SKP
RALT

LAC
CEA
HALT
LAr
NaC
iAC
LAC
DAC
LAC
DAC
JMP
DEM
LAC
SAD
SKP
HALT

CLA!CMALICLL!ICML

XcT
XCT
XCT
XCT
XCT
XCT
NOP
CMA
SZA
HALT
SNL
HALT

10791
12000
XCT17K
12687
12901

XCT125

XCT12S
XCT125
15252
XCTr12
12525
XCT14R
15253
15252
XcT12%
15252
K15253

.1
.1
.1
.+l
.+l
.1

/RIMP RX(CT13

/FNTER TFST
/CLEAR FRROR TaRLF

/RIMP ADDKRESS

/ERROK; RJMP ADORFSS NOT 10001
/TEST XCT-JMS; FROM 15252 XCT (17525)

/ER+OP TARLE ADDRESS

JERKOF; XCT (12525) FROM 15252

/XCT (12525)

/JMS 15252
/RIMP RXCT14
JENTER TEST

/CLEAR ERROR TARLE
/RJMP ADDRESS

/ERROR; RJUMP ADDRESS NOT 15253
/TEST FXECUTE SERIES
/AC=0ONFS, L=1

/AC=0
/ERROR; XCT SERIES FAILED AC NOT ONES

/ERROR; XCT SERIES FAILED LINK NOT A ONF
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/PDP-9 INSTRUCTION TEST PART I =

LAC @

DAC AUTNOTY

LAC 1 @

LAC AUTNOT

SAD 9

SKP
£E1452A, HALT

DAC @

/TEST
LAC 30 ~
DAC AUTNOT
LAC 1 30
LAC AUTNOT
SAD 3@
: SKP
£14528, HALT
DAC 38
/TEST
LAC 58
DAC AUTNOT
LAC 1 50
LAC AUTNOT
SAD 50
SKP
£1452C, HALT
© DAC 5@
/TEST
LAC 110
DAC AUTNOT
LAC T 118
LAC AUTNOT
SAD 110
SKP
£14520, HALT
DAC 118
/TEST
LAC 210
DAC AUTNOT
LAC 1 210
LAC AUTNOT
SAD 210
SKP
£1452€, HALT
DAC 210

/TEST
LAC 412
DAC AUTNOT
LAC 1 41¢
LAC AUTNOT
SAD 419
SKP
E1452F, HALT
DAC 419
/TEST
LAC 1919¢

TAPE 16
/TEST AUTO-INDEX @

/STORE (@) AT AUTNOT
/FALSE AUTO INDEX @

/COMPARE (AUTNOT) WITH (&)

/ERROR; (@) AUTO~INDEXED
/RESTORE (@)

AUTO=-INDEX (38)

/STORE (38) AT AUTNOT
/FALSE AUTOD INDEX 38

/COMPARE (AUTNOT) WITH (38)
/ERROR; (3@) AUTO-INDEXED
/RESTORE 38

AUTO-INDEX 5@

/STORE (58) AT AUTNOT
/FALSE AUTO INDEX 5@

/COMPARE (AUTNOT) WITH (58)
/ERROR; (58) AUTO-INDEXED
/RESTORE 58

AUTO-INDEX 1180

/STORE (118) AT AUTNOT
/FALSE AUTO INDEX 118

/COMPARE (AUTNOT) WITH (110)
/ERROR; (118) AUTO-INDEXED
/RESTORE 1190

AUTO-INDEX 210

/STORE (218) AT AUTNOT
; /FALSE AUTO INDEX 210

/COMPARE (AUTNOT) HWITH (210)

/ERROR; (218) AUTO-INDEXED
/RESTORE 214

AUTO-INDEX 418

/STORE (418) AT AUTNOT
/FALSE AUTO INDEX 410

/COMPARE (AUTNOT) WITH (410)
/ERROR; (418) AUTO-INDEXED

/RESTORE 414
AUTO-INDEX 1210
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£14526,

E1452H,

£14521,

£14524,

£1453,

£1454,

DAC AUTNOT
LAC 1 @110
LAC AUTNOT
SAD 1010
SKP

HALTY

DAC 1210

LAC 206190
DAC AUTNOT
LAC 1 2#410
LAC AUTNOT
SAD 2010
SKP

HALT

DAC 20180

LAC 49018
DAC AUTNOT
LAC 1 4010
LAC AUTNOT
SAD 4919
SKP

HALT

DAC 4010

LAC 7

DAC AUTNOT
LAC 1 7
LAC AUTNOT
SAD 7

SKP

HALT

OAC 7

LAC K@ v
DAC *7777
LAC M488K
DAC @

LAC 1 17777
TAD K4908K
CMA

SEZA

HALT

LAC K1

DAC 17776
LAC M280K
DAC 1

LAC 1 17776
TAD K2@0K
CMA

SZA

HALT

/STORE (1@018) AT AUTNOT
/FALSE AUTO INDEX 1910

/COMPARE (AUTNOT) WITH (1018)

/ERROR; (1@018) AUTO-INDEXED
/RESTORE 1010
/TEST AUTO-INDEX 2810

/STORE (201@) AT AUTNOT
/FALSE AUTO INDEX 2910

/COMPARE (AUTNOT) WITH (2p18)

/ERROR; (2018) AUTO-INDEXED
/RESTORE 2010
/TEST AUTO-INDEX 4210

/STORE (4019) AT AUTNOT
/FALSE AUTO INDEX 4910

/COMPARE (AUTNOT) WITH (401@)

/ERROR; (4P18) AUTG-INDEXED
/RESTORE 40218
/TEST AUTO-INDEX 7

/STORE (7) AT AUTNOT
/FALSE AUTO INDEX 7

/COMPARE (AUTNOT) WITH (7)

/ERROR; (7) AUTO-INDEXED
/RESTORE (7)

/TEST LAC INDIRECT 17777
/AC=@
/(17777)=0
/AC=377777
/7(0)=377777
/AC=777777
/AC=377777
/AC=0

ZERROR; LAC I 17777 FAILED
/AC NOT M400K

/TEST LAC INDIRECT 17776
/AC=1
/(17776)=1
/AC=577777
/(1)Y=577777
/AC=577777
/AC=777777
/AC=9

/ERROR; LAC I 17776 FAILED
/AC NOT M20@K
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E£E1455,

£1456,

£1457,

£1458,

w8

/TEST LAC INDIRECT 17775

LAC K2 /AC=2

DAC 17775 /(17775)=2

LAC M18aK /AC=677777

DAC 2 /(212677777

LAC 1 17775 /AC=677777

TAD K1008K /AC=777777

CMA /AC=0

SZEA

HALT /ERROR; LAC I 17775 FAILED
/AC NOT M109K
/TEST LAC INDIRECT 17773

LAC K4 /AC=4

DAC 17773 /(17773)=4

LAC M4@K /AC=737777

DAC 4 /(4)2737777

LAC 1 17773 /AC=737777

TAD K40K /AC=777777

CMA /AC=0

SZA

HALT /ERROR; LAC I 17773 FAILED
/AC NOT M40K
/TEST LAC INDIRECT 17767

LAC K10 /AC=10

DAC 17767 /(17767)=18

LAC M2@K /AC=757777

DAC 19 /(18)=757777

LAC 1 17767 /AC=757777

TAD K28K /AC=777777

CMA /AC=0

SZA

HALT /ERROR; LAC | 17767 FAILED
/AC NOT M20K
/TEST LAC INDIRECT 17757

LAC K20 /AC=20

DAC 17757 /(17757)=20

LAC M1@K /AC=767777

DAC 28 /(202767777

LAC I 17757 /AC=767777

TAD K18K /AC=777777

CMA /AC=p

SZA

HALT /ERROR: LAC 1 17757 FAILED
/AC NOT M10K
/TEST LAC INDIRECT 17737

LAC K10048 /AC=10040

DAC 17737 /(177371210049

LAC M4K /AC=773777

DAC 10040 /(18848)=773777

LAC 1 17737 /AC=773777

TAD K4K /AC=777777

CMA /AC=0

SZA
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£1459,

E1460,

E1461,

E1462,

£1463,

HALT

LAC K1n10¢
DAC 17677
LAC M2K

DAC 1010¢
LAC 1 17677
TAD K2k

"CMA

SZA
HALT

LAC K1ip209
DAC 17577
LAC M1K

DAC 1@200
LAC 1 17577
TAD K1iK

CMA

SZA

HALT

LAC K10400
DAC 17377

LAC M4g@ /AC=

DAC 19400
LAC 1 17377

TAD K429 /AC=

CMA
SZA
HALT

LAC K11K
DAC 16777

LAC M28@ /AC=

DAC 11000
LAC I 16777

TAD K280 /AC=

CMA
SZA
HALT

LAC K12K
DAC 15777

LAC M128 /AC=

DAC 1200¢@
LAC 1 15777

TAD K100 /AC=

/ERROR: LAC 1 17737 FAILED
/AC NOT M4K

/TEST LAC INDIRECT 17677
/AC=10109
/(17677)=10100
/AC=775777
/(101808)=775777
/AC=775777
/AC=777777
/AC=0

/ERROR: LAC 1 17677 FAILED
/AC NOT M2K

/TEST LAC INDIRECT 17577
/AC=10209
/(17577)=10200
/AC=776777
/(102088)=776777
/AC=776777
/AC=777777
/7AC=9

/ERROR, LAC I 17577 FAILED
/AC NOT Mi1K

/TEST LAC INDIRECT 17377
/AC=10400
/7(17377)=104009
777377
/(104208)=777377
/AC=777377
777777
/AC=0

/ERRORS LAC I 17377 FAILED
/AC NOT M400

/TEST LAC INDIRECT 16777
/AC=11000
/7(16777)=110800
777577
/(11088)=777577
/AC=777577
777777
/AC=8

/ERROR LAC I 16777 FAILED
/AC NOT M200

/TEST LAC INDIRECT 15777
/AC=12000
/(157771=12800
777677
/(12000)=777677
/AC=777677
777777
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£1464,

£1465,

£E1466,

£1467,

RJSI1,

£1468,

F1469,

CMA
SZA
HALT

LAC K14K
DAC 13777
LAC M40

DAC 14000
LAC T 13777
TAD K44

CMA

SZA

HALT

LAC Ki@K /AC=10000

/AC=0

/ERROR; LAC I 15777 FAILED
/AC NOT Miog
/TEST LAC INDIRECT 13777
/AC=14000
/(13777)=14000
/AC=777737
/(14080)=777737
/AC=777737
/AC=777777
/AC=0

/JERROR; LAC I 13777 FAILED
/AC NOT M40

/TEST LAC INDIRECT 7777

DAC 7777 /(7777)=10000

LAC M20
DAC 10000
LAC I 7777
TAD K20
CMA

SZA

HALT

CLL

CLA

SAD JMST1
SKP

HALT

LAC K17776
DAC 1

LAC JMSI1
DAC JMST1
DAC 15252
LAC RUMI1
DAC 17777
XCT 15252
SKP

DZM UMST1
LAC 17776
SAD RJSI1X
CLA!SKP
HALT

cLL
cLa
SAD JUMST?2
SKP
HALT

LAC K17775%
DAC 2

LAC JMSIZ2

/AC=777757
/(10900)=777757
/AC=777757
/AC=777777
/AC=8

JERRORS LAC I 7777 FAILED
/AC NOT M20

JTEST XCT JMS I 1

/AC=8

/ERROR; JMS DESTINATION ERROR
/TABLE ADORESS NOT @
/DIRECT ADDRESS
/INDIRECT ADDRESS
/JIMS 1 1
/ERROR TABLE ADDRESS
/STORE JUMS I 1 AT 15252
/JMP RJSI1
/STORE RETURN TO TEST
/XCT TEST
/RJSI1-1 ADORESS
/CLEAR ERROR TABLE ADDRESS

/ERROR; RJUMP ADDRESS,
/(177776) NOT RJSI1i-1

/TEST UMS 1 2
/AC=0

/ERROR; JMS DESTINATION ERROR
/TABLE ADDRESS NOT @

/DIRECT ADDRESS

/INDIRECT ADDRESS
/JMS 1 2
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DAC JMST2 /ERROR TABLE ADDRESS

DAC 15252 ~ /STORE JMS I 2 AT 15252
LAC RJUMI2 /JMP RJSI2
DAC 17776 /STORE RETURN TO TEST
JMP 15252 /JMP TO 15252
SKP
RJSI2, DEM JMST2 /CLEAR ERROR TABLE ADDRESS
LAC 17775
SAD K15253
CLA!SKP
£1470, HALT /ERROR; RJMP ADDRESS, (17775) NOT 15253
cLL JTEST UMS 1 4 ’
CLA /AC=0
SAD JMST4
SKP
£1471, CHALT /ERROR; JMS DESTINATION ERROR
/TABLE ADDRESS NOT @
LAC K17773 /DIRECT ADDRESS
DAC 4 /INDIRECT ADDRESS
LAC JMSI4 /IMS 1 4
DAC JMST4 /ERROR TABLE ADDRESS
DAC 15252 /STORE JMS I 4 AT 15252
LAC RJUMI3 /JMP RUSI3
DAC 17774 /STORE RETURN TO TEST
JHP 15252 /JMP TO 15252
. Skp
RJSI3, DZM JMST4 /CLEAR ERROR TABLE ADDRESS
LAC 17773 :
SAD K15253
CLA!SKP :
£1472, HALT /ERROR; RJMP ADDRESS, (17773) NOT 15253
cLL /TEST UMS 1 18010
CLA /AC=2
SAD JMST1@
SKP
E14724A, HALT /ERROR; JMS DESTINATION ERROR
: /TABLE ADDRESS NOT @
LAC K17767 /DIRECT ADDRESS
DAC 10010
LAC JMSI1@ /IMS 1 10019
DAC JMST1g /ERROR TABLE ADDRESS
DAC 15252 : /STORE JMS 1 4 AT 15252
LAC RJUM13A /JMP RJUS13A
DAC 177780 /STORE RETURN TO TEST
JMP 15252 /JMP TO 15252
SKP
RJS13A, DZM UMST1@ /CLEAR ERROR TABLE ADDRESS
LAC 17767
SAD K15253
CLA!SKP
£14728, HALT JERROR; RJMP ADDRESS (17767) NOT 15253
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CLL /TEST UMS 1 28

CLA /AC=0
SAD UMST20
SKP
£1473, HALT /ERROR; JUMS DESTINATION ERROR
/TABLE ADDRESS NOT ¢
LAC K17757 /DIRECT ADDRESS
DAC 28 /INDIRECT ADDRESS
LAC JMSI2@ /JIMS 1 28
DAC JMST2g /ERROR TABLE ADDRESS
DAC 15252 /STORE JUMS 1 28 AT 1525
LAC RJMI4 /JMP RUSI4 :
DAC 17768 /STORE RETURN TO TEST
JMP 15252 /JMP TQ 15252
SKP
RJS14, DZM JUMST2¢ /CLEAR ERROR TABLE ADDRESS
LAC 17757 . :
SAD K1%5253
CLA!SKP
£1474, HALT /ERROR; RJMP ADDRESS,(17757) NOT 15253
CLL /TEST JUMS 1 100490
CLA /AC=0
SAD JMST49
SKP
£E1475, CHALT /ERROR; JUMS DESTINATION ERROR
/TABLE ADDRESS NOT ¢
LAC K17737 /DIRECT ADDRESS
DAC 10040 /INDIRECT ADDRESS
LAC JMS1490 /JMS 1 19049
DAC JMST4p /ERROR TABLE ADDRESS
DAC 15252 /STORE JMS | 10049 AT 15252
LAC RUMIS /JMP RJUSIS
DAC 17749 /STORE RETURN TO TEST
JMP 15252 /JMP T0 15252
SKP
RJSIS, DzM JUMST4g /CLEAR ERROR TABLE ADDRESS
LAC 17737
SAD K15253
CLA!SKP
£1476, HALT /ERROR; RJMP ADDRESS, (17737) NOT 15253
cLL /TEST UMS 1 10100
cLA /AC=8
SAD JMST1IC
SKP :
£1477, HALT ' /ERROR; JMS DESTINATION ERROR
/TABLE ADDRESS NOT @
LAC K17677 /DIRECT ADDRESS
DAC 10100 /INDIRECT ADDRESS
LAC JMSI1C /JMS 1 108100
DAC JMST1iC /ERROR TABLE ADDRESS
DAC 15252 /STORE JMS 1 161008 AT 15252
LAC RJMIG6 /JIJMP RUSIS6
DAC 1772@ /STORE RETURN TO TEST
JMP 15252 /JMP T0 15252
SKP
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RJS16,

E1478,

E1479,

RJS17,

E1480,

£1481,

RJS18,

£1482,

DZM JUMSTiC
LAC 17677
SAD K15253
CLA!SKP
HALT

CLL

CLA

SAD JMST2C
SKP

HALT

LAC K17577
DAC 10200
LAC JMSI2C
DAC JMST2¢C
DAC 15252
LAC RJMI17
OAC 176080
JMP 15252
SKP

DZM JMST2C
LAC 17577
SAD K15253
CLA!SKP
HALT

cLL .

cLA

SAD JMSTA4C
SKP

HALT

LAC K17377
DAC 1g¢4080
LAC JUMSI4C
DAC JMSTAC
DAC 15252
LAC RJUMIS8
DAC 174080
JMP 15252
SKP

DZM JMST4C
LAC 17377
SAD K15253
CLA!SKP
HALT

/CLEAR ERROR TABLE ADDRESS

/ERRGR; RJMP ADDRESS, (17677) NOT 15253
/TEST UMS 1 19200

/ACH

/ERRQR; JUMS DESTINATION ERROR
/TABLE ADDRESS NOT ¢

/ JMS

/DIRECT ADDRESS
/INDIRECT ADDRESS
I 10200

/ERROR TABLE ADODRESS

/STORE JMS
/JMP RUSI7

1 18208 AT 15252

/STORE RETURN TO TEST

/JMP T015252

/CLEAR ERROR TABLE ADDRESS

/ERROR; RJUMP ADDRESS, (17577) NOT 15253

/TEST
/AC=0

JMS 1 10400

/ERROR; JUMS DESTINATION ERROR

/TABLE ADDRESS NOT @
/DIRECT ADDRESS

/JMS

/INDIRECT ADDRESS
1 19400

/ERROR TABLE ADDRESS

/STORE JMS
/JMP RJSI8

I 10498 AT 15252

/STORE RETURN TO TEST

/JMP T0 15252

/CLEAR ERROR TABLE ADDRESS

/ERROR; RJMP ADDRESS, (17377) NOT 15253
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cLL /TEST JMS [ 110899

CLA /AC=0
SAD JMST1K
SKP
£1483, HALT /ERROR; JUMS DESTINATION ERROR
, /TABLE ADDRESS NOT @
LAC K16777 /DIRECT ADDRESS
DAC 11008 /INDIRECT ADDRESS
LAC JMSI1K /JMS 1 11008
DAC JMST1K /ERROR TABLE ADDRESS
NAC 15252 /STORE JMS 1 11008 AT 15252
LAC RJUMI9 /JMP RJSI19
DAC 17000 ~ /STORE RETURN TO TEST
JMP 15252 /JMP TO 15252
SKP
RJSI9, DZM JMST1K /CLEAR ERROR TABLE ADDRESS
LAC 16777
SAD K15253
CLA!SKP
£1484, HALT /ERROR; RJUMP ADDRESS, (16777) NOT 15253
cLL /TEST UMS 1 12000
CLA /AC=8
SAD JMST2K
SKP
£1485, HALT /ERROR; JMS DESTINATION ERROR
' /TABLE ADDRESS NOT @
LAC K15777 /DIRECT ADDRESS
_DAC 120020 /INDIRECT ADDRESS
LAC JMSI2K /JMS 1 12008
DAC JMST2K /ERROR TABLE ADDRESS
DAC 15252 /STORE JMS 1 12088 AT 15252
LAC RJMI1Q /JMP RJSI1D
DAC 16000 /STORE RETURN TO TEST
JMP 15252 /JMP TO 15252
SKP _
RJSI1E, DZM JMST2K /CLEAR ERROR TABLE ADDRESS
LAC 15777
SAD K15253
CLA!SKP
£1486, HALT /ERROR; RJMP ADDRESS, (15777) NOT 15253
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CLL /TEST JUMS | 14e00

CLA ‘ /AC=0
SAD JMST4K
SKP :
£1487, HALT /ERROR; JUMS DESTINATION ERROR
/TABLE ADDRESS NOT @
LAC K17777 /DIRECT ADDRESS
DAC 14000 /INDIRECT ADDRESS
LAC JUMSI14K /JMS 1 14000
DAC JMST4K /ERROR TABLE ADDRESS
DAC 15252 /STORE JMS 1 140208 AT 15252
LAC RJUMI1t /JMP RJUST11
DAC © /STORE RETURN T0O TEST
JMP 15252 /JMP TO 15252
SKP
RJSI11, DZM JUMST4K /CLEAR ERROR TABLE ADDRESS
LAC 17777
SAD K15253
CLA!SKP
£1488, HALT /ERROR; RJUMP ADDRESS, (17777) NOT 15253
cLL /TEST UMS 1 10600
CLA /AC=0
SAD JMST1X
SKP
£E1489, HALT /ERROR; JUMS DESTINATION ERROR
o /TABLE ADDRESS NOT @
LAC K17776 /DIRECT ADDRESS
DAC 10000 ’ /INDIRECT ADDRESS
LAC JMSI1X /JMS 1 10000
DAC JMST1X /ERROR TABLE ADDRESS
DAC 15252 /STORE JUMS 1 10688 AT 15252
LAC RUMI12 /JMP RJUSI12
DAC 17777 /STORE RETURN TO TEST
JMP 152582 /JMP T0 15252
SKP : '
RJSI12, DEM JUMST1X /CLEAR ERROR TABLE ADDRESS
LAC 17776
SAD K15253
CLA!SKP

£1490, HALT /ERROR; RJUMP ADDRESS, (17776) NOT 15253
STARY
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/80P~-9 INSTRUCTION TEST PART 11

LAC
NDAC 17777
LAC XCTDZM
NAC 4
LAW 17777
DAC 12525
XCT 1 17777
LAC 12525
SZA

HALT

K2

1491,

LAC
DAC 17777
LAW 17777
DAC @
1572 1
HALTY

K@

17777
~1492,

LAC
NAC
LAC K
NAC 17776
LAC ANDI

- DAC @
LAC K2525
LAC 1
CLA!CMA
XCT 1 17777
SAD K2525
SKP
HALT

K
17777
K1

1493,

62

TAPE 17
/TEST XCT INDIRECT
/DIRECT ADDRESS
/INDIRECT ADDRESS

/0ZM 12525
/7(12528) = 777777

/ERROR;
/FAILED,

XCT 1 A DZM
(12525) NOT 777777

/TEST 1SZ INDIRECT
/DIRECT ADDRESS
/INDIRECT ADDRESS

/(82777777

/ERROR, ISZ 1 17777 FAILED
/T0 SKIP

/TEST XCT 1 LAC 1
/DIRECT ADDRESS FOR XCT 1
/INDIRECT ADDRESS FOR XCT 1
/DIRECT ADDRESS FOR AND 1
/INDIRECT ADNDRESS FOR AND I

JAND 1 17776

/7(1)=2525
/AC=0NES

/ERROR: XCT I 17777 FOLLOWED
/BY AND 1 17776 FAILED



R

£1494,

£1495,

£1496,

£1497,

£1498,

£1499,

LAC K17776
DAC 14

LAC. K1S
DAC 17777
XOR 1 10
SZA

HALT

LAC 1@

SAD K17777
SKP

HALT

LAC K17775
DAC 10

LAC K2S
DAC 17776
XO0R I 10
SZA

HALT

LAC 12

SAD K17776
SKP

HALT

LAC K17773
DAC 1@

LAC K3S
DAC 17774
XOR I 18
SZA

HALT

LAC 10

SAD K17774
SKP

HALT

63
/TEST AUTO-INDEX (XOR I 12)
/AUTO-INDEX (18) = 17776

/AC = 111111
/(17777)=111111

/ERROR; XOR 1 14 FAILED
/AC NOT 111111
/AUTO-INDEX REGISTER

/JERRQOR; (1@) NOT INCREMENTED+1
/TEST AUTO-INDEX: XOR 1 12
/7(18) = 17775

/AC = 222222
/(17776)=222222

/ERROR; XOR I 10 FAILED AC NOT 222222

/ERROR; (1@)INOT INCREMENTED+1
/TEST AUTO-INDEX3; XOR 1 10
/(18)=17773

/AC = 333333
/(17774)=333333

/ERROR; XOR I 18 FAILED AC NOT 333333

/ERROR; (10) NOT INCREMENTED+1

i
|
x
]
{
|




21580,

1591,

19292,

1503,

L1504,

1585,

LAGC X17767
NaC 12

LAC K45
PDAC 17770
X0k 1 19
SZA

HALT

LAC 18

SAL K17778@
SKP

HALT

LAC K17757
LAC 13

LAC K58
[AC 17769
x0r 1 1@
SZA

HALT

LAC 18

SAl K17760
SKP

HALT

LAC K17737
PAC 18

LAC K6S
DAC 17749
XOR 1 19
SZEA

HALT

LAC 18

SAD K17740
SKP

RALT

64

/TEST AUTO-INDEX: XOR
/(1@8)=17767

JAC = 444444
/(17778)=444444

/ERROR; XOR ] 19

/ERROR; (1@) NOT
/TEST AUTO-INDEX; XOR
/(19)=17757

/AC = 555555
/(17760)=555555

/ERROR; XOR I 18

/ERROR; (1@) NOT

JTEST AUTO-INDEX; XOR

/7(18)Y=17737
/AC = 666666
/(17748)=666666

JERROR; XOR 1 1@

/ERROR; (1@) NOT

FAILED AC NOT 444444

INCREMENTED+1

1 10

FAILED AC NOT 555555

INCREMENTED+1

I 18

FAILED AC NOT 666666

INCREMENTED+1



F1906,

c15a7,

~1508,

£1589,

E1514,

L1511,

LAC ¥17677
DAC 19

LAC %75
DAC 17748
XOR T 19
SZA

HALT

LAC 13

SAN k17700
SKP

HALT

LAC «17577
bDAC 19

LAC K5252
DAC 17600
X0k 1 10
SZA

HALT

LAC 12

SAD 17600
SKP

HALT

LAC 17377
DAC 1@

LAC k2525
DAC 17400
XO0R I 10
SZ»

HALT

LAC 19

SAN 17400
SKP

HALT
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/TEST AUTO-INDEXS XOR
/(1) =17677

/AC 777777
/(1778@) 777777

/ERROR; XCR I 10

JERROR; (18) NOT
/TEST AUTO-INDEX: XOR
/(101217577

/AC=5252
/(17660)=5252

/ERRQOR: XOR 1 1@
/ERROR: (1¢) NOT

/TEST AUTO-INDEX: XOR

/(18)=17377
/AC=2525
/(17480)=2525

/ERROR; XOR 1 10

/ERROR; (10) NOT

I 10

FAILED AC NOY 777777

INCREMENTED+1

I 1¢@

FATLED AC NOT 5252

INCREMENTED+1

I 1@

FAILED AC NOT 2525

INCREMENTED+1




L1512,

£1514,

£1515,

£1516,

£1517,

LAC K16777
DAC 10

LAC K15257
DAC 17040
X0R 1 14
SZA

HALT

LAC 10

SAD K176@9@
SKP

HALT

LAC K15777
DAC 19

LAC K2K
DAC 16000
X0R 1 1@
SZA

HALT

LAC 10

SAD K16008
SKP

HALT

LAC K13777

- DAC 10

LAC K40080
DAC 14000
XO0R I 18
SZA

HALT

LAC 1@

SAD K14000
SKP

HALT

66

/TEST AUTO-INDEX; XOR
/7(18) = 16777

/AC=15252
/(17288)=15252

/ERROR; XOR 1 19

/ERROR; (18) NOT

/TEST AUTO-INDEX$? XOR
/(18) = 15777

/AC=20800
/(160808)=2000

/ERROR; XOR 1 1@

/ERROR; (18) NOT
/TEST AUTO-INDEX3 XOR
/(18)=13777

/AC=40080
/7(14008)=4000

/ERROR: XOR [ 18

FAILED AC NOT

INCREMENTED+1

1 10

FAILED AC NOT

INCREMENTED+1

I 1o

FAILED AC NOY

/ERROR; (18) NOT INCREMENTED+1

15252

2000

4908




~1518,

£1519,

L1520,

£1521.,

AUTR,

£1522,

LAC K15252
{PAC 11

LAC ¥7S
DAC 15253
1s# 1 11
HALT

LAC 15253
SZA

HALT

LAC 11

SAD K15253
SKP

HALT

LAC AUTJMP
SZA
HALT

LAC JMPAUT
DAC AUTJMP
LAC AUTRET
DAC 1

LAC Ko

DAC 12

JMP T 12
SKP

GZM AUTJIMP
LAC 12

SAD K1

SKP

HALT

67

/TEST AUTO-I®DEX (ISZ2 1 11)
/(11) = 15252
/(15253)=777777
/ERROR; 1SZ FAILED TO SKIP
/AUTO-INDEX 11 FAILED

/ERROR; (15253) NOT @, ISZ FAILED
/ERROR; (11) NOT INCREMENTED+1
/TEST AUTO-INDEX (JMP I 12)
JERROR; JUMP I 12 FAILED TO
/REACH 1
/STORE JUMP 1 12 IN ERROR ADDRESS
/TABLE

/(12)=0

/CLEAR TABLE ERROR

/JERROR (12) NOT INCREMENTED+1




L1923,

£1524,

£19265,

L1926,

1LLAC K7S§
DAC 13
LAC K7S
NAC ¢
LAC X§
HAC 1 138
LAC ¢
SZEA
HALT
LAC 13
SZA
HALT

LAC ¥7S

DAC 14

LAC AUTCMA
DAC »
CLA!CMA
XCT I 14
SZA

HALT

LAC 14

SZA

HALT

&

68
/TEST AUTO-INDEX (DAC I 13)

/(13) - 77777

/(8122777777
/AC=0

/ERROR; (@) NOT 2 (DAC 1 13)

/ERROR; (13) NOT INCREMENTED+1
/TEST AUTO-INDEX (XCT I 14)
/(14) = 77777

/(@3)=CMA

/ERROR; AC NOT @ (XCT I 14) A CMA

/ERROR; (14) NOT INCREMENTED+1




£1%27,

1528,

£1529,

£153a,

~1531,

£1532,

£1533,

LAC K17776

GAC 15
LAC K1
DAC 17777

CLL!ICLA!CMA

TAD T 15
S#Ap

HALT

SNL

HALT

LAC 15

SAD X17777

SKP

HALT

LAC 17777
SAD K1
SKP

HALT

LAC K7S
ODAC 16
LAC k6252
DAC 2

SAD 1 16
SKP

HALT

LAC @

SAD K5252
SKP

HALT
LAC 16
SZA
HALT

69
/TEST AUTO-INDEX (TAD T 15)
/(15%)=17776

/(17777 =1

/ERROR; AC NOT @ (TAD I 15)

/ERROR; LINK NOT SET ( TAD I 15)

/ERROR; (15) NOT INCREMENTED+1

/ERROR; (17777) NOT A 1
/TEST AUTO-INDEX (SAD I 16)

/(16) = 77777

/(8)=5252

/ERROR: SAD SKIPPED (SAD I 16)

/ERROR: (@) NOT 5252

/ERROR: (16) NOT INCREMENTED+1




£1534,

AUTRF1,

£1535,

£1936,

E1537,

£1-38,

£1539,

LAC AUTJMS
SEpICLL
HALT

LAC AUTRUM
“AC 1

LAC K7S
AC 17

LAC JMSAUT
NAC AUTJIMS
JMS 1 17
SKP

DZM AUTUMS
LAC

CAD AURJMP
SKP

HALT

LAC 17
SZA
HALT

LAC K192
AC 19
LAC K7S§
DAC 11
I1SZ 1 19
HALT
LAC 19
SAD K11
SKP
HALT
LAC 11
SZA
HALT

70

/TEST AUTO-INDEX (JUMS 1 17)

/ERROR;
/JMP AUT
/817) =

/dMS 1T 1

/CLEAR E

/ERRQOR;
/(@) SHOULD =
/ERROR;
/TEST AUTO-IN
/(11)=77
/(18)=18
/{11)=77

/ERROR;

/ERROR;

/ERROR;

ERROR TABLE ADDRESS NOT @
RE1
777777

7 STORED IN ERROR TABLE

RROR TABLE

(2) STORED WRONG
AUTRE1-1

(17) NOT INCREMENTED+1
DEX (1SZ I 1@) (1@)=1@
7777

7777

ISZ FAILED TO SKIP

(10) NOT 11

(11) NOT @



©154a,

£1541,

£1542,

LAC K12

DAC 11
IS2 1
LAC 11
SAD K1
SKP
HALT

11

2

LAC K7S

DAC 15

LAC LAWAUT

DAC &

LAC LAWFUL

DAC 1
CLA
XCT I
CMA
SZA
HALT

LAC 15
SAD K1
SKP
HALT

15

71

/TEST AUTO-INDEX (ISZ I 11) (11)=19

/(11)=19

/ERROR; ISZ I 11 FAILED TO +2

/ADDRESS 11

/TEST AUTO-INDEX (XCT I 185)

/DID

/(15) = @ (@) = XCT I 15
/(1)=LAW 17777 (15)=1

/(@) XCT 1 15

/(1)=LAW 17777
/AC=0

/ERROR; AC NOT ONES (LAW 17777)
NOT OCCUR

/ERROR: (15) NOT A 1 (XCT 1 15)




£1543,

£1544,

£1545,

1546,

CLUCK,

’:1547:

CLSF
SKP
HAL

LAC K@
GAC 7
NEM %
CLOF
ISZ2 ¢
JMP -1
LAC 7
SZA
HALT

LAC K@
rZm o
CLON
152 @
JMP -1
ILAC 7
SNA
RALT

OEM 2
CLON
CLOF
LAC K@
nAC 7
1S @
JMP . -1
LAC 7
SZA
HALT

5EM TCLK

LAC K7S

NAC 7

CLON

CLSF

SKP

JMP | +4

1S2 TOLK

JMP 'CLOCK
CHALTY

N CLOF

72

/TEST TIME CLOCK, CLSF
/FLAG=0

/ERROR; CLSF SKIPPED, FLAG=8@
/TEST TIME CLOCK, CLOF

/(7)=0

/DELAY FOR COUNT WAIT
/CLOCK OFF

/JERROR; (7) NOT @ AFTER CLOF
/TEST TIME CLOCK, CLON

/DELAY FOR COUNT WAIT
/CLOCK ON

/ERROR; (7)=@ CLON FAILED
/TO TURN ON

/CLOCK ON
/CLOCK OFF

/DELAY FOR COUNT WAIT

/ERROR; TIME CLOCK FAILED TO
/TURN OFF &
/TEST TIME CLOCK, CLSF

/(7)Y=777777
/TURN CLOCK ON

/SKIP ON CLOCK FLAG

/ERROR; TIME CLOCK DID NOT SKIP
/TURN CLOCK OFF

N
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/TEST P13 ION (NO FLAGS SET)

LAC 1TAB
SZA

£1548, . HALT /ERROR; (ITAB) NOT @
CLOF /CLEAR CLOCK
RCF /CLEAR READER FLAG
TCF /CLEAR TTY FLAG
LAC IRET
RDAC 1 /RJIMP E1549
10N
SKP

~1549, HALT ~ /ERROR; PI OCCURED NO FLAGS SET

/TEST P1 10N (FLAG SET) CLOCK ON

LAC K7X42
DAC ITAB /STORE 700842 IN ERROR TABLE
LAC IRET2
OAC 1 /RJMP IRET3
LAW 17777
NAC 7
DAC 2 /(8)=777777
LAwW 17777
10F /P1 OFF

AANGFR, CLON

UNCLOC, CLSF

: JMP -1

KINT, 10N /P1 ON
SKP

IRET3, DZM ITAB /CLEAR ERROR TABLE
CLOF : /CLEAR CLOCK FLAG
10F /P1 OFF
LAC ¢ /ERROR TABLE NOT @
SAD ISTOR
SKP

£155a, HALT , JERROR; (@) NOT IRET3+1

/TEST P1: 10F, ION, IOF

LAC IRFT4
DAC 1 /(1) =RIMP E1551
CLA
[*AC 2 /(@)=n
LAW 17777
NAC 7
10F /P1 OFF
CLON
CLSF /CLOCK FLAG
JMP -1
I0ON /PI ON
10F /P1 OFF
SKFP ;

<1551, HALT JERROR; PI OCCURED IOF FAILED
cLNF /CLEAR CLOCK FLAG
LAC
SZA

L1559, AL T /ERROR; RJUMP STORED ON 10N, IOF

/(@) NOT 0




£1553,

‘“OINQ

IRET7,

L1554,

£15565,

IRETO9,

1256,

"1'757;

LAC 1TAB1
SEA

HALT

ILAC IRFTé6
AC 1

CLA

AC @

LAC K7XX2
AC 1TAB1
LAW 17777
naAcC 7
CLON

CLSF

JME -1
10N

TON

10M

NOP

10F

CLOF

SKP

nZM 1TAB1
LLAC ¢

SAD NOINX
SKP

HALT

10F
LAC 1TAB2
SEA
HALT

- LAC K76X2

DAC 1TAB2
LAC IRETSB
NAC 1

CLA

DAC @

LAW 17777
DAaC 7
CLON

CLSF

JMP -1
10N

LAw 17777
CLOF

10F

SKP

DZM 1TAB2
CMA

SZA

HALT

LAC 7

SAD T1STOR2
SKP

HALT

74

/TEST Pl: ION, TLS, IOF

JERROR; ERROR TABLE NOT @
/RJUMP IRET?
/(3)=n

/STORE 700@@2 IN ERROR TABLE

/CLOCK FLAG ON

/P1 OFF
/CLOCK FLAG OFF

/CLEAR ERROR TABLE

/ERROR; (@) NOT NOIN+1i

/TEST P1 (ION, LAW, [OF)

JERROR; ERROR TABLE NOT @
/STORE 760082 IN ERROR TABLE

/RJIMP IRETO

/(8)=0
/CLOCK FLAG ON
/P1 ON
/AC=777777
/CLOCK FLAG OFF
/P1 OFF
/CLEAR ERROR TABLE

JERROR; ION, LAW FAILED ON PI
/AC NOT 777777

JERROR; (@) NOT IRET9-3




~1558,

£1559,

IRFT11,

E1560,

£15607A,

21561,
IRET13,

¥15672,

£1563,

10F

LAC ITAB3
SZA

HALT ,
LAC ERIJMS
DAC 11

LAC IRET10
DAC 1

CLA

paAC =

LAC ®K1XX2
0AC TTAB3
LAW 17777
DAC 7

CLON

CLSF

JMP -1
10N

JMS 10
HALT

NZM 1TAB3
10F

CLOF

LAC =2

SAD K11
SKP

HALT

LAC 18
SAD ISTOR3
SKP

HALT

LAW 17777
DAC 7

DAC 28
CLA

DAC @

LAC IRFT12
DAC 1
CLGY

CLSF

JMP -1
ION

1S72 2%
NOF

HALT

LAC 24
SZA

HALT

CLOF

I10F

LAC 7

SAD [STOR4
SKF

HALT

75
/TEST PI, I1ON, JUMS, 1I0OF

/ERROR; FRROR TABLE NOT @
/RJMP TO E1558 (ERROR)
/RJIMP TRET11

/(3) = @

/STORE 100882 IN ERROR TABLE

/CLOCK ON-

/P1 ON
/ERROR; P FAILED TO OCCUR, ON JUMS 10

/CLEAR ERROR TABLE
/P1 OFF
/CLOCK OFF

/ERROR; (@) NOT 11

/ERROR; JMS RJUMP NOT E£1559

/TEST PI, (ISZ)

/(8)=0

/RJIMP IRET13
/CLOCK FLAG ON
/P1 ON

/ERROR; PI FAILED, ISZ SKIPPED

/ERROR; (2@) NOT @ 1SZ FAILED

/ERROR; (@) NOT E1561
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/TEST PI (JMP 1D
LAC 1TAB4
SEA
L1564, HALT /JERROR; ERROR TABLE NOT @
/P1 FAILED
LAC K6X42
{JAC TTABA4 /STORE 604082 IN TABLE
LA
HAC o /(8)=9
LLAC IRFET14
NPAC 1 /JRJMP TO CLEAR ERROR TABLE
LAC K1
TAC TT1ADR /INDIRECT ADDRESS
10F /P1 OFF
LAW 17777
OAC 7
CLON
CLSF
JMP -1 /CLOCK ON
10N : /P1 ON
JMP I TIADR
: SKP
[IRET15, DZM 1TAB4 /CLEAR ERROR TABLE
10F
CLOF /CLOCK OFF
LAC O
SAD K1
SKP
£1565, HALT JERROR: (@) NOT 1 (JMP 1) PI




77

/TEST P1 (TAN 1 18) AUTO-INDEX
ILAC ITABS
SZA
P E1565A, HALT /ERROR; ERROR TABLE NOT @
/P1 FAILED
LAW 17777
DAC 7
LAC K344X2
DAC TTABS /STORE 3443¢2 IN ERROR TABLE
LAC IRET16
DAC 1 /(1)=RJUMP IRET17
CLA
DAC /(8)=n
LAC X17777
DAC 10 /(18)=17777
LAC K5252
DAC ¢
CLA /AC=g
CLON |
CLSF |
JMP -1 /CLOCK ON '
10N /P1 ON
TAD 1 18 /AUTO-INDEX 1@
SKP
IRET17, DZM 1TAB5 /CLEAR ERROR TABLE
10F
CLOF
SAD K5252
SKP
£1566, HALT ~ /ERROR; TAD I 18, AUTO-INDEX
/FAILED ON PI

i
|
z

LAC @
SAD ISTORS
SKPICLA
£1567, HALT /ERROR; (@) NOT IRET17-1 ON PI1
: /TEST 10T 3344 (DBR), L=0
CLL /L=0
JMS DBRX
SZL .
£1568, HALT /ERRQR; DBR FAILED; LINK NOT g




£1569,

£157a,

©1571,

JBRX,

JBRXX,

JBRXXX,

START

CLLICML
JMS DBRX
SNL
HALT

CLLICLA
JMS DBRXX
SNL

HALT

CLL!ICMLICLA
JMS NBRXXX
CLA!SZL
HALT

I1SZ CNTX
JMP PART2
LAC BELL
TLS

TSF

JMP -1
TCF
CLA!OAS
DAC CNTX
JMP PART2

%
783344
JMP 1 NBRX

0

LAC DBRXX
TAD K4@2K
DAC DBRXX
7083344

JMP 1 DBRXX

&

LAC DBRXXX
AND M420K
DAC DBRXXX
783344

JMP I DBRXXX

/TEST 107

78

3344(DBR), L=1

/L=1

/DBR

/ERROR, 10T 3344 (DBR),

/TEST 10T 3344 (DBR), L=0

/DBR

/ERROR; 10T 3344 (DBR),

/TEST 10T 3344 (DBR), L=1

/L=1

/ JMP

/DRR

JERROR; 107 3344(DBR),

TO BEGIN

/JMP TO BEGIN
/LEAVE LINK ALONE
/DBR

/SET LINK TO A ONE

/DBR

/CLEAR LINK

/DBR

LINK NOT 1

LINK NOT 1

LINK NOT @
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/PDP-9 END TAPE PART 2

/CONSTANTS

NOP1=NOP

NQP2=NOP

NOP3=NOP

HALT=HL T

K@, ¢
<4438K, 40090
K240K, 200070
K140K, 1204869
K49K, 40007
K29K, 20890
19K, 100690
K4K, 4000
K2K, 2000
1K, 10008
<44@, 408
K2ua, 202
K14g, ianm
K44, 49
K14K, 1477
12K, 12¢8¢
K11k, 11aoa
13498, 1840
14209, 18207
Kiv1ea, 1210nm
K10040, 100940
K10, 19

K4, 4

K2, 2

K1, 1

1S, 111111
K2S, 222222
K3S, 333333
K4S, 444444
K5S, 555655
K685, 666666
K7S, 777777
M490K, 377777
120@K, 577777
110K, 677777
440K, 737777
20K, 757777
M12K, 767777
M4K, 773777
M2K, 775777
41K, 776777
1440, 777377
1290, 777577
1149, 777677
144, 777737
2v, 777757
‘1@, 7777¢7
4, 777773
12, 777775
M1, 777776

M4aAOKM, 377776




12V AKM,
11 CPKM,
“4UKM,
H2UKM,
AIAKM:
M4KM,

n5252,
K2525,
A2KM,
11KM,
1470M,
1248M,
11UOM,
144M,
124M,
11 04M,
14M,
12M,
541M,
<3,

A7,
K17,
K37,
K77,
K177,
K377,
K777,
K1777,
K3777,
K7777,
£17777.
K37777,
K77777.,
A6 ABK ,
13,

17 »
17,
"’37’
177,
177,
4377,
4777,
1777,
437771
7777,
417777,
A77777.
K61BK,
R777K,
A5,
K11,
<21,
K1¢@g41.,
K14101,
K1¥201.,
11401,
R11461.,

577776
677776
737776
757776
767776
773776

5252
2525
775776
776776
777376
777576
777676
777736
777756
777766
777772
777774
777775
3

7

17

37

77

177
377
777
1777
3777

17777

17777
37777
77777
177777
777774
7777780
777760
777740
777700
777600
777400
777008
776000
774600
77002@
760800
740000
708800
600800
777000
5

11

21
10041

- 10101

10201
18401
11001

80




N

{14901,
14001,
KHALT,
KCAL®,
k2421,
2126,
SCALF,
KSKP,
KCLAa
K6hK,
K725,
K715,
KJS1.
KJS2.
XJS3,
K152%62,

15253,
K12,
KT7XX2,
K76X2,
K1XX2,
K6X42,

. K344X2,

K7X42,

12621
140021
10681
741040
1776v¢
2p21
2129

417760

SKP
CLA
[(YAAAE
725253
715253
JSi+1
Js2+1
Js3+1
Js4+1
15252

15253
12
700002
760012
100032
634002
344002
700042
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“14000., 14208
~400a, 4200
£160@0, 16000
K1744¢, 17400
K1760@, 17607
17577, 17577
17702, 17768
K75, 75
17677, 17677
n17748. 17749
£6%, 65
XK17768. 17766
K55, 55
K17770, 1777@
<45, 45
17767, 17767
135, 35
<25, 25
<15, 15
7776, 7776
13777, 13777
715777, 15777
16777, 16777
17377, 17377
A17737. 17737
K177%7, 17757
17773, 17773
417774, 17774
17775, 17775
17776, 17776
<1790, 17402
K426, 412526
K415, 415253
K2481, 200801

' /INIT4K ERROR TABLE ADDRESS
JMPRFT, 2 /JMP22 (EX)
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/JMP ERROR TABLE

Ja, @ /JIMP @ (E1305)

J1, 8 /IMP 1 (E1306)

J2, @ /IMP 2 (E1307)

Ja, @ /JIMP 4 (E1308)

J1¢, 7 /JMP 108 (E1309)

Jjew, @ /IMP 20 (E131@)

Jae, ¢ /JMP 10040 (E1311)

J109, 2 /JMP 10100 (E1312)

J208, ¢ /IMP 10208 (E1313)

Jave, ¢ /JMP 10400 (E1314)

J1K, 2 /JMP 11000 (E1315)

J2K, @ /JMP 12008 (E1316)

Jak, ) /JMP 14008 (E1317)

J1¢K, @ /JMP 10000 (E1318)

JM10K, 7] /IMP 7777 (E1319)

JMAK, G /JIMP 13777 (E1329)

JM2K, A /JIMP 15777 (E1321)

JM1K, 2 /JMP 16777 (E1322)

JM4e0, @ /IMP 17377 (E1323)

JM2ga, ¢ /JMP 17577 (E1324)

JM1@4a, “ /JIMP 17677 (E1325)

Mg, @ /IMP 17737 (E1326)

JM2@, ) /IMP 17757 (E1327)

JIM1ig, 8 /IMP 17767 (E1328)

JM4, 8 /JIMP 17773 (E1329) |
JM2, ? /IMP 17775 (E133@) |
JM1, @ /JMP 17776 (E1331) |
JMa, a /JMP 17777 (E1332) |
J12525, ¢ /JIMP 12525 (E1333) ‘ |
J15252, ¢ /JMP 15252 (E1334) |
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JU % JJMP FROM @ TO 17777 CODE=K?7777 (E1335)
o1, i /JMP FROM 1 TO 17776 CODE=K1 (E1336)
2z, e /JMP FROM 2 TO 17775 CODE=K2 (£1337) 3
Jea, o /JMP FROM 4 TO 177733 CODE=K4 (£1338) '
Jcie, 7 /JMP FROM 17 TO 17767: CODE=K16 (E1339)
Jec2e. - yi /JMP FROM 2@ TO 17757: CODE=K28 (E1340)
icaa, 2 /JMP FROM 1@@4@ TO 17737; CODE=K4@ (£1341)
Jjc1ea, 0 /JMP FROM 1641@@ TO 17677; CODE=K168 (E1342)
Jjcoue, " /JMP FROM 14280 TO 17577 CODE=K2808 (E£1343)
Jjcava, v /JMP FROM 10488 TO 17377; CODE=K428 (E1344)
JC1K, ¢ /JMP FROM 11K TO0 16777; CODE=K1K (E1345)
Jork, @ /JMP FROM 12K TO 157773 CODE=K2K (E1346)
JC4K, 7] /JMP FROM 14K TO 13777; CODE=K4K (E1347)
JC12K, ¢ /JMP FROM 18K TO 7777 CODE=K10K (£1348)
JcMe, 7 /JMP FROM 17777 TO @, CODE=K?777K (E£1349)
JCM1, ] /JMP FROM 17776 T0 1, CODE=Mi (E1358)
JcMg, ? /JMP FROM 17775 TO 2: CODE=M2 (£1351)
JcMa, 7 /JMP FROM 17773 TO 4; CODE=M4 (E£1352)
icMia, 7 /JMP FROM 17767 T0 10; CODE=M19 (£1353)
icM2ae, v /JMP FROM 17757 T0 28: CODE=M20 (E£1354)
JCcH4n, ¥ /JMP FROM 17737 T0O 16048: CODE=M4@d (E1355)
_icMiav. 0 /JMP FROM 17677 TO 181@@; CODE=M108 (E1356)
cMoay, @ /JMP FROM 17577 10 10620@; CODE=M288 (£1357)
JcMaad, @ /JMP FROM 17377 TO 10408; CODE=M4@80 (£1358)
JCcM1K, o /JMP FROM 16777 TO 11000; CODE=MiK (E1359)
JCM2K, 2 /JMP FROM 15777 T0 12¢0@8; CODE=M2K (£1360)
JCM4K, @ /JMP FROM 13777 TO 14@0@; CODE=M4K (£1361)
JCMimK, @ /JMP FROM 7777 TO 106005 CODE=MigK (E1362)
CALO., 2 /CAL FROM 17757 £XT=#4, L=8 (E1363)

CAL1, 7] /CAL FROM 17757 L=1 (E1364)

/JMS ERROR TABLE

JsmMa., @ /JMS FROM @ TO0 17775 (E1367)

JSM1, . /JMS FROM 1 7O 17774 (E1369)

JSM2, P /JMS FROM 2 TO0 17773 (E1371)

JSM4, ¢ /JMS FROM 4 TO 17771 (E1373)

iSM1a, ) /JMS FROM 12 TO 17765 (E1375)

JsSMaa, 7 /JMS FROM 28 TO 17755 (E1377)

JSM4a, ) /JMS FROM 10049 T0 17735 (E1379)

iSMiaa. 7 /JMS FROM 1@810@ TO 17675 (E1381)

JsM2ad. ¢ /JMS FROM 18280 Y0 17575 (E1383)

Jsvapa, 7 /JMS FROM 10408 TO 17375 (£1385)

JSHM1K, ¢ /JMS FROM 11008 TO 16775 (E1387)

JSM2K, v /JMS FROM 126880 TO 15775 (E1389)

iSMak, ? /JMS FROM 14808 T0 13775 (E1391)

JISM1 @K, 7] /JMS FROM 19888 TO 17775 (E1393)
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Js2s2, @ /JIMS FROM 12525 TO 15252 (£1395)
Jss2s, @ /JMS FROM 15252 TO 12525 (E1397)
JSSS, 7 /JMS SERIFS (E1399)
XCTg, ¢ /XCT-JMS; FROM ¢ XCT(17777) (£1421)
XcT1, ) /XCT=JMS; FROM 1 XCT(17776) (E1423)
ACT2, @ /XCT=JUMS3 FROM 2 XCT(17775) (L1425)
XcT4, ? /XCT=JMS3 FROM 4 XCT(17773) (E1427)
ACT1iam, @ /XCT-JMS; FROM 10 XCT(17767) (E1429)
ACT2a, 7 /XCT~JUMS; FROM 2@ XCT(17757) (E1431)
XCT4a, @ /XCT=UMS; FROM 19040 XCT(17737) (E£1433)
XCT1c, ¢ /XCT-JUMS; FROM 1010@ XCT(17677) (E1435)
xcTz2ce, & /XCT=-JUMS; FROM 18200 XCT(17577) (E1437)
XCT4c, A /XCT-JMS; FROM 10400 XCT(17377) (E1439)
XCT1k, @ /XCT=JMS; FROM 11000 XCT(16777) (E1441)
XCT2k, ? /XCT-JMS; FROM 12000 XCT(15777) (E1443)
XCT4K, @ /XCT-JMS; FROM 14008 XCT(13777) (E1445)
XCT1aK, )] /XCT-JMS; FROM 10000 XCT(7777) (E1447)
ACT125, ) /XCT-XCT; FROM 16252 XCT(12525) (E1449)
/JMS 1 ERROR TABLE

JMST1, @ /JMS 1 1 (E1467)
JMST2, @ /UMS 1 2 (E£1469)
JMSTa4, ] /IMS 1 4 (E1471)
UMST19, 7 /JIMS 1 10819 (E1472A)
IMST?24Q, @ /JMS 1 26 (E1473)
JMSTaa, 0 /JMS 1 10049 (E1475)
JMST1C, ? /JMS 1 10100 (E1477)
JMST2C, 7} /JMS 1 10200 (E1479)
JMSTA4C, @ /JMS | 18400 (E£1481)
IMST1K, 2 /7JMS 1 11000 (E£1483)
JMST2K, 7 /JMS 1 12000 (£1485)
JMST4K, ? /JMS 1 14008 (E1487)
JMSTY X, ] /JMS 1 100600 (£1489)

/AUTO-INDEX ERROR TABLE
AUTUMP, ) /JMP 1 12 (AUTO-INDEX) (E1521)
AUT UMS, @ /IMP 1 17 (AUTO-INDEX) (E1534)

/Pl ERROR TABLE
ITaB, @ /778342 (I10N) (£1548)
[TAB1Y, (7] /749082 (ION, TLS, I0F) (E1553)
ITago, @ /760082 (10N, LAW, 10F) (£1555)
ITAB3, ¢ /178302 (10N, JMS, I10F) (£1558)
[TABS4, @ /644342 (ION, JUMPI, 10T) (£1564)
1TABS, 2 /344002 (ION, TAD I 19, IOF) (E15654)




JMP22,

J4,
2Jd1,
Rd7,
o,
~J4,
<J5,
<JbH,
<J7,
< JH,
tJY,
1Jia,
Jiz,.
*J13,
*J14,
RJ15,
RJ16.
RJ17.,
RJ18,
tJ19,
J20,
"J21.,
1422,
“"J23'
KJ24,
RJ25%,
RJ26.
RJ27.
RJ28,
RJ?g.
RJécC,
RJECX,

JHME

JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP

22

RJMPQR
RJMP1
RJUMP?
RJUMP3
RJMP 4
RJMPS
RJMP4
RJnMP7
RJMPB
RJUMPQ

RJUMP1@

RJUMP11
RJMP12
RJMP13
RJUMP14
RJMP15
RJUMP16
RUMP17
RJUMP18
RJMP19
RJUMP20
RPJUMP21
RJMP22
RJMP23
RJMP24
RJMP2S
RJMP26
RJMP27
RJMP28
RJMP29
RJCD
17777
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RJ1C,
RJ1CX,
rJec.
RJ2CX,
RJ3CX,
RJ4ac,
RJ4CX,
J5C,
RJ5CX,
1J6C,
IJ6CX,
RJ7C.,
RJ7CX,
RJBC [ ]
RJBCX,
RJ9C,
RJICX,
RJigc,
RJ1@cX,
RJ11c,
RJ110X,
Rut2c,
RJ12CX,
J136,
RJ136X.
RJ14c,
RJ14¢X,
RJ15C,
RJ15CX,
RJ16C,
RJ16CX,
RJ17C,
RJ17¢X,
1J18r,
RJiscx,
RJ19C,
rRJ19cX,
RJ20¢,
RJ28CX,
RJ21C,
RJ21¢cX.
RJ22¢,
jJ22¢cx,
RJ23C,
RJ24c,
RJ24cX,
J2se,
RJ256CX,
RJ26C,
RJ2ecx.
Ja7c,
1J2r7cx,

JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP

JMP.

JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP

RJC1
17776
RJC2
17775
RJC3
17773
RJC4
17767
RJC5
17757
KJCé
17737
RJC7
17677
RJCS
17577
RJCY
17377
RJC1@
16777
RJC11
15777
RJC12
13777
RJC13
7777
RJC14
7
RJC15
1
RJC16
2
RJC17
4
RJC18
10
RJCL9
20
RJcae
10048
kJc21
10100
RJC22
10200
RJC23
104900
RJC24
11000
RJC25
12000
RJC26
14000
kRJCc27
1auu
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“JSMW,
ASMP,
{JSM1,
<SM1,
1JSM2,
<8SM2,
RJSM3,
<tSM3,
~JSM4,
SM4,
KJSMS:
HSM5,
"JSMﬁo
SM6,
RJSM71
RSM7,
RJSMB,
<SMB,
1JSMg,
KSMQ,
<JSM14,
1S40,
tJS5M11
“SM11,
~JSM12,
RSM12,
XJSM13,
RSM13,
RJSMP5,
RSM25,
RJSMK2,
tSM52,
RCAL®,
RCAL1,

XCToS,
XCTRa,
XCT@R,

£CT1S,
ACTR1,
ACT1R,

XCcT2s,
ACTR?,
XCT2R,

JMP
JMS
JMP
JMS
JMP
JMS
JMP
JMS
JMP
JMS
JMP
JMS
JMP
JMS
JMP
JMS
JMP
JMS
JMP
JMS
JMP
JMS
JMP

- JMS

JMP
JMS

JMP-

JMS
JMp
JMS
Jup
JMS
JMP
Jup

XCT
JMS
JMP

XCT
JMS
JMP

xcT
JMS
JMP

RJMSa
17775
RJMS1
17774
RJMS?2
17773
RJMS3
17771
RJMS4
17765
RJUMSS
17755
RJMSe6
17735
RJMS7
17675
RJMSS8
17575
RJMS9
17375
RJUMS10
16775
RJMS11
15775
RJMS12
1377%
RJMS13
17775
RJUMS14
15252
RJMS15
12525
RCALS®
RCALS1

17777
@

RXCT@

17776
1
RXCT1

17775
2
RXCT2
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/STORED AT @
/STORED AT 17777
/RJMP TO TEST

/STORED AT 1
/STORED AT 17776
/RJMP TO TEST

/STORED AT 2
/STORFD AT 17775
/RJMP TO TEST
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XCT4s, XCT 17773 /STORED AT 4
XCTR4, JMS 4 /STORED AT 17773
XCT3R, JMP RXCT3 : /RJUMP TO TEST
XCT1aS, XCT 17767 /STORED AT 19
XCTR10, JMS 19 /STORED AT 17767
XCT4R, JMP RXCT4 /RJUMP TO TEST
XcT2as, XCT 17757 /STORFD AT 29
XCTR?20, JMS 2@ /STORED AT 17757
ACTSR, JMP RXCTS /RUMP TO TEST
XCT44S, XCT 17737 /STORED AT 1g04¢
XCTR4Q, JMS 119049 /STORED AT 17737
XcT6R, JMP RXCT6 /RJMP TO TgST
XCT1CS, XCT 17677 /STORED AT 1@1¢9
XCTR1C, JMS 19140 /STORED AT 17677
XCT7R, JMP RXCT7 /RJIJMP TO TEST
xcT2cs, XCT 17577 /STORED AT 1@200
XCTR?2C, JMS 1@200 /STORED AT 17577
ACT8R, JMP RXCTS8 /RJMP TO TEST
XCT4cS, XCT 17377 /STORED AT 10400
XCTR4C. JMS 10400 /STORED AT 17377
XCT9R, JMP RXCT9 /RJIMP TO TEST
XCT1KS, XCT 16777 /STORED AT 11000
XCTR1K, JMS 11000 /STORED AT 16777
XCT1aR, JMP RXCT10 /RJMP T0 TEST
XCT2KS, XCT 15777 /STORED AT 1200¢
XCTR2K, JMS 12000 /STORED AT 15777
XCT11R, JMP RXCT11 /RJMP TO TEST
XCT4KS, XCT 13777 /STORED AT 14900
AKCTR4K, JMS 14009 /STORED AT 13777
XCT12R, JMP RXCT12 /RJUMP TO TEST
XCT1XS, XCT 7777 /STORED AT 10080
XCTR1X, JMS 190089 /STORED AT 7777
ACT13R, " JMP RX(CT13 /RJUMP T0 TEST
X¢T128, XCT 12525 : /STORED AT 15252
XCTR12, JMS 15252 ' /STORED AT 12525

XCT14R, JMP RXCT14 /RJIMP T0O TEST




IMS T4,

IMS 12,

JMS 14,

JMS T,
IMS 12w,
IM5140,
JMGT4C.
JMS12C,
JMSi4cC,
JMS 11K,
JMS 12K,
JMS 14K,
JMS 14X,

JMPAUT,
JMSAUT,

IRET,
{IRET2,
IRFTa,
IRET6,
IRETS,
IRET10Q.
{RET12,
IRET14,
[IRET16.,
HJMI1,
NJM12,
JMI3,
TJM13A,
RJMI4,
RJMI5,
RJM16,
<JM17,
"JMI8,
RJMI19,
<JM118,
tUMI11,
RIMI12,
ISTOR,
ISTORZ,
ISTOR3,
1STOR4.,
[STORS,

JMS
JMS
JMS
JMS
JME
JMS
JMS
JMS
JMS
JMS
JMS
JMS
JMS

JMP
JMS

JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP
JMP

1

2

4
140108
20
19040
10100
10200
10480
110080
12069
14080
12080

bt et ot b et gk b S med ekt bt

I 12
I 17

£1549
IRET3
£1551
IRET?7
IRET9
IRET11
IRET13
IRET15
IRET17
RJSI1
RJSI2
RJSI3
RJS13A
RJSI4
RJSIS
RJSI6
RJS17
RJSIS8
RJSI9
RJSI10
RJYSI11
RJSI12

IRET3+1
IRET9-3
£1559
£1561
IRET17-1
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XCTDAC,
XCTDZM,
XCTISZ,
XCTTAD,.
XCTRAL,
AUTRFT,
AUTCMA,
AUTR.M,
AURJMP,
ANDT,
LAWAUT,
LAWFUL,
ERIJMS,
ITADR,
TCLK,
CNTX,
BELL,
400,
AUTNOT.,
RJCNT,
RJSI1X,
NOINX,

START

DAC
DZM
I1S2
TAD
RAL
JMP
CMA
JMP

17777
12525
17777
K1

AUTR

AUTRE1L

AUTRE1-1

AND
XCT
LAW
JMP
(]
a

I 17776
I 15
17777
£E1558

777777

0207

JMP
4
%)

MODX+1

RJSI1-1
NOIN+4

91

|
|




AND 1
AUR JMP
AUTCMA
SUT JMP
AUTJMS
AUTNOT
4UTR
AUTRFT
AUTRF1
AUTRUM
JELL
CALG
CAL1
CLOCK
CNTX
IBRX
UBRXX
JBRXXX
ERIJMS
£ X

EXX
£E11086
L1187
£1108
t11@9
£111a
1111
£111?
£1113
1114
£1115
£E1116
£E1117
£1118
t1119
E112a
£1121
£1122
£1123
£i1124
£112%
£1126
£1127
1128
£1129
£1130
£1134
~1132
£1133
1134
£1135
1136
1137
1138
~1139
1140
1141
£1142
£1143
1144

7274
7273
7271
6733
6734
7365
5452
727@
5561
7272
7303
6654
6655
5676
7302
62780
6273
6301
7277
1676
1716
26
33
40
45
52
57
64
71
76
103
110
115
122
127
134
141
146
153
16@
165
172
177
204
211
216
223
230
235
242
247
257
262
272
lae
3as
312
317
324
331

£1145
£1146
1147
£1148
£1149
£1150
£1151
£1152
£1153
£1154
£115%
£1156
£1157
£1158
£1159
£1160
£1161
£1162
£1163
£1164
£1165
£1166
£E1167
£1168
£1169
£1170
£1171
£1172
£1173
£E1174
£1175
£1176
£1177
£1178
£1179
£1180
£1181
£1182
£1183
£1184
£1185%
£1186
£1187
£1188
£1189
£1190
£1191
£1192
£1193
£1194
£1196
£1196
£1197
£1198
£1199
£12ea
£12081
£128?
£1203
£1204
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336
343
350
355
362
367
374
401
406
413
42¢
425
432
437
444

_451

456
463
479
475
502
507
520
527
534
549
545
551
556
562
567
573
600
604
611
615
622
626
633
637
644
658
655
661
666
672
677
703
710
714
721
725
732
736
743
747
754
760
765
771

£12@5
£1286
£1207
£12@8
£1209

E121a¢

£1211
£1212
£1213
£41214
£1215
L1216
£1217
L1218
£1219
£1220
£1221
£1222
£1223
£1224
£1225
£1226
£1227
£1228
£1229
£1236
£1231
£1232
£1233
£1234
£123%
E1236
£1237
£1238
£1239
€124
£1244
£1242
£1243
£1244
£1245
£1246
£1247
£1248
£1249
£1250
£1251
£E12%52
£1253
£1254
£1258%
t12%6
£1257
£1258
£1259

£E1260

t1261

E1262 -

£1263
£1264

776

1042
ioe7
1013
1020
10824
1031

1835

1842
10846
1853
1857
1064
1078
1875

1161 ¢

1106
1112
1117
1123
1130
1134
1141
1145
1152
1156
1163
1167
1174
12068
1205
1211
1216
1222
1227
1233
1240
1243
12580
1253
1268
1263
1278
1273
1300
1303
13180
1313
1320
1323
13360
1333
1340
1343
1358
1353
13690
1363
1379
1373



£1265
L1266
£1267
£1268
£E1269
£E1270
£1271
£1272
£1273
£1274
£1275
£1276
£1277
£1278
£1279
£1280
£1281
£1282
£1283
£1284
£128%
£1286
£1287
£1288
£1289
£1290
£1291
t1292
£1293
£1294
£1295
£1296
£1297
£1298
£1299
E13g00
£1391
£1302
£1303
£E1304
£1395
£1306
£13087
£1308
£E1309

£1310.

£1311
£1317
£1313
£1314
£1315
£E1316
£1317
£1318
£1319
£132a
£1321

£E1322
£1323
£1324

1400
1493
1410
1413
1420
1423
1430
1433
1449
1443
1450
1453
14680
1463
1470
1473
1500
1523
1510
1513
1520
1523
1530
1533
1549
1543
1558
1553
1568
1563
1578
1573
1609
16683
1620
1627
1650
1656
1664
1673
1724
1735
1746
1757

1778

2001
2012
2823
20834
2245
2856
2867
2190
2111
2123
2134
2145
2156
2167
2200

£1325
£1326
£1327
£1328
£1329
£133a
£1331
£1332
£1333
£1334
£1335
£1336
£1337
£1338
£1339
£1340a
£1341
£1349
£1343
£1344
£1345
£41346
£1347
£1348
£E1349
£1350
£1351
£1352
£1353
£1354
£1355
£1356
£1357
£1358
£1359
£1360
£1361
£F136?2
£1363
£1364
£1365

£1366

£1367
£1368
£1369
£1370
£1371
£1372
£1373
£1374
£1375
£1376
E1377
£1378
£1379
£E138a
£1381
£E1382
£1383
£1384
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2211
2223
2234
2245
2256
2267
2300
2311
2322
2333
2344
2360
2374
2410
2424
2440
2454
247¢
2504
2520
2534
2550
2564
2600
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